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Q.No: 1 The membrane and the protoplasm it contains are collectively referred to as
2612938

T G el IR WA H AP U d _ FHel o gl

Nucleosome
A

Cell wall
B

GG

Apoplast
C

TUIwERe

Protoplast
D

Weare
Correct Ans : D
Subject : BIOLOGY graduate
Q.No: 2 is a benzoquinone and its structure and function are similar to the plastoquinone found in the thylakoid membranes of

2612948 chloroplasts.

TP OB & 3R D! T 3R B FIRIERE & YADISS 3wl H UE SH el TRelf@- & JAH g

Hydroquinone

A
Quinolones

B
IEEICIES
Ubiquinone

C

D Cytochrome c
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HATFEH ¢

Correct Ans : C

Subject : BIOLOGY graduate

Q.No: 3 Which among the following is not an abiotic stress?

2612949
frafifad & @ 9 & eoifdd ara T8t 82
Light
A
LR
Temperature
B
CIELIE]
Moisture
c
T
Insect
D
FlST

Correct Ans : D

Subject : BIOLOGY graduate

Q.No: 4 At germination the testa is ruptured and the seedling radicle emerges through which end?

2612963
PRV S A SfSHIY e 1l § IR Hsfe ASHa b RR F Febern 82
Micropylar
A
AU
Chalaza
B
BN
Centre
C
L
Stigmatic
D
femRks

Correct Ans : A
Subject : BIOLOGY graduate

https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2Sg3feb2023grive_adminPanel/Final_Model_Answer.aspx 2/89



4/16/23, 10:34 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2Sg3feb2023grive_adminPanel/Final_Model_Answer.aspx

Q.No: 5  Pollen tubes, though typically unbranched, can become branched in which of the following species?
2612964

WRIT AT, FTaifes S AR TR S=1RAd gt &, Fafaread & § feg yonfa & wnfed g Iadt 82

Grevillea
A

faet

Aelo vera
B

Tat R0

Sagittaria
C

GUIEIE

Santalum
D

Heaw

Correct Ans : A

Subject : BIOLOGY graduate

Q.No: 6  The smallest group of organisms that is diagnostically distinct from other such clusters and within which there is parental pattern of
2612988 ancestry and descent is called?

Sfdt &7 TEY BieT T S WY 3T 9E ¥ AgiAe w0 ¥ i 8T § SR s fier 91 oIk dw1 &1 Wed Y giaT 8, Heand 82

Phylogenetic species

A
BIgAeHeS Yellia
Cohesion species
B
e gerfa
Recognition species
C
Rt yenfa
Ecological species
D

uiifufas uefa

Correct Ans : A

Subject : BIOLOGY graduate

Q.No: 7 Which among the followings is not a seed enhancement technology?
2612998

frafafed & @ o9 6 9 gfs doie T2 72

A Seed coating
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1 ®1 a9

Drying
B

qE

Hydration treatments
C

FESIM glede

Gel mixtures with growth promoting compounds
D

faera ®) gemar 37 ara e & a1y S g
Correct Ans : B

Subject : BIOLOGY graduate

Q.No: 8  Which enzymes identify specific nucleotide sequences in DNA of 4- 8 bp, usually palindromes, and cleave specific phosphodiester
2613013 ponds in each strand of the DNA?

DIF-T TOgH 4-8 it & Sy F AR Jfadiens ghal 3! UgaH o34 8, IR W AfitigH, 3R et & ude ¥s # IRy mrnfsues ais
%I Ppled §?

Restriction enzymes

yfeefia gomsH

Lipase enzyme

AU TITgH

Helicase enzyme

3fdw TorgH

Gyrase enzyme

MEI TSITSH
Correct Ans : A

Subject : BIOLOGY graduate

Q.No: 9  Ozone only enters the leaf through

2613029
S e gRI Uil H Ha bRl gl
Stomata

A
wer

B Lamina
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AT

Leaf margin

wE Aol

Vein

=

Correct Ans : A

Subject : BIOLOGY graduate
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Q.No: 10 Who developed column liquid chromatography?

2613038

Fiay fafds Hacme! &1 e foa fear ur?

Ed Southern

TS HeH

Mikhail Tswett

foramsa g

Burnard Kipling

1S fouferT

Theodor Schwann

Rtk g

Correct Ans : B

Subject : BIOLOGY graduate

Q.No: 11 Which of the following material is not used to make HPLC column?

2613048

D

TUuer Sian g9 & fo Fafifea & 3 fog gl o1 Suam =8 fear S 82

Polyethylene

arefigfifer

Glass

Steel

ELa G|

Nichrome
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|

Correct Ans : D
Subject : BIOLOGY graduate

Q.No: 12 What is not true about Commelinaceae family?

2613063
HARH $d b IR & I TG TETQ ?
Widespread in tropical, subtropical and warm temperate regions.
A
Swisfeddhy, Snwmfeddy ok wf au=haior &= & amus|
Leaves alternate, simple, entire, flat or folded V-shaped in cross section, leaf sheath closed at base, venation parallel,
stomata tetracytic, stipules absent.
B
IR FE A TR, WX, Hyoh, Judt ar 9t g€ -
PR &1 U, YR W U= WH ¥, RRfaary quriar, Wi emgies, Wiy qufkidl
Inflorescence a helicoid cyme at the end of stem in leaf axil, sometimes solitary, subtended by spathaceous bracts.
c
qupH R B Y F a9 F oid A e R Iss wgh, FW-d W ueT, WARFR ST gRT T S g
Flowers always unisexualactinomorphic (zygomorphic in Commelina), perigynous.
D

Bd ga=m YRl efeeiuiibe (Ffemr & srgmaiihe), iRk

Correct Ans : D

Subject : BIOLOGY graduate

Q.No: 13 When starch is heated directly, or is treated with dilute acids or enzymes, it becomes converted into a tasteless, white, amorphous
2613078 5id known as

e W o WY T A ST ], 91 9 ol a1 TensHt & 91y fee {5 wran 7, @ 98 U Swre, e, SFIHR o9 § uRafdd g o 8
o ¥ ®U H ST I g

Arrowroot Starch

A
3RRIE '
Soluble starch
B
ge=ia werd
Dextrin
C
Saufe
Nitro starch
D

q1gel T

Correct Ans : C

https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2Sg3feb2023grive_adminPanel/Final_Model_Answer.aspx 6/89



4/16/23, 10:34 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2Sg3feb2023grive_adminPanel/Final_Model_Answer.aspx

Subject : BIOLOGY graduate

Q.No: 14 carry material in the direction opposing equilibrium.
2615910

Il Y A & fausia fmn § @ o 1

Imbibition

3id-JN9or

Diffusion

TR

Passive-transport mechanisms

fAfSra- giaud o

Active-transport mechanisms

Correct Ans : D

Subject : BIOLOGY graduate

Q.No: 15 Lipids are carried throughout the body by way of the lymphatic and circulatory systems in the form of
2615914

forfre R TRR & Tl SR FER yueh & mem FEUH A E

Chylomicrons

BISAHTGHI

Cytokines

Trseife—g

Proenzymes

WesH

Vacuoles

IFgaed

Correct Ans : A

Subject : BIOLOGY graduate

Q.No: 16 If an individual has a probability of 0.5 of sharing the allele with its parent, offspring or sibling, a probability of 0.25 of sharing it with
2615934 4 grandparent or grandchild, of 0.125 of sharing it with a first cousin and so on. This probability is referred to as the
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e foraft ey & o el 1 3o Arar-RiaT, Y a1 HIS-S8 b 1Y I A B1 0.5 BT YHIGT B, o) 39 <ral-are a1 U & Ty Jreh
F1 0.25 P YUE 8, 3T UEQ TR HIS P I WIZM PR BT 0.125 B! U §1 5T JHIG HI Pl o1l B

Number of offspring

A
HaHl @t d@m
Measure of reproductive success
B
WS- W erdl BT U
Inclusive fitness
c
gaTaH frew
Coefficient of relatedness (r)
D

Jaftradr &1 Ui (r)
Correct Ans : D

Subject : BIOLOGY graduate

Q.No: 17 Which of the following is not a fundamental structure found in phylum Chordata?

2615950
fafofea & ¥ o9 & Mt TR, Bged Biecr § T8) urdt wdr?
Notochord
A
TEv] (FlePis)
Branchial clefts
B
fad v
Central nervous system
c
Gills
D
Taw ST

Correct Ans : D

Subject : BIOLOGY graduate

Q.No: 18 The organism depicted in the figure given below belongs to which family?
2615960
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& 7S erpla A ufar T ia 6 B @182
\\ 4\ .'JE_'
/- S

Cladoselache

A

FSHaw

Branchiostomidae
B

EIEIES R

Amphioxidae
C

THRTITRIS

Lepospondyli
D

GRS

Correct Ans : A

Subject : BIOLOGY graduate

Q.No: 19 is the raising of egg-laying chicken egg production.
2615970
32 23 T i B 9IR F Seare B w2
Broilers
A
siger
Layer farming
B
TR BIffT
Dual farming
C
s wiftf
Apiculture
D
AYHRd are

Correct Ans : B

Subject : BIOLOGY graduate

Q.No: 20 A major function of the distal convoluted tubule in many amphibians—a function that may be shared by the collecting ducts and
2615985 urinary bladder—is control of the excretion of pure water, often termed
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B3 ST § ¥ed Bdicges SIedel B U T ST - Teb U1 B S Uebd Aeieblai SR T GRT ATl foba S Webell € - g U b Jeqoi
o1 fga 8, S s/R Pl oIl g

Deionized water

A
fasmafra wia
Brownian water
B
et urt
Newtonian fluid
c
el 5a
Osmotically free water
D

AT ® ¥U I Jad U=t
Correct Ans : D

Subject : BIOLOGY graduate

Q.No: 21 Glycerophospholipids are also called

2616000
RRRIpIEp ey & ff g1 oI B
Phosphoglycerides
A
Sphingolipids
B
fRarmfafrea
Sterols
C
T
Sulphonamides
D

TP TS

Correct Ans : A

Subject : BIOLOGY graduate

Q.No: 22 Fischer projection formula is used to represent

2616010
IR TSIaRM WIHET &7 JugnT %1 ufaffa A & fore fasar S 1
Optical Isomers of Sugars

A
BT & TPpa g

B Four dimensional sugar structure
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TR TATH ST HRFT

Three dimensional sugar structure
(o

ffeda = d@van

Straight chain sugar structure
D

Wt e 2T HIET
Correct Ans : C

Subject : BIOLOGY graduate

Q.No: 23 Identify the ascending order of complete metamorphosis in Arthropoda.

2616020
smyifdrer & yuf SRR & RIS HH & ugaH |
Egg, Larva, Pupa, Adult
A
33T, araf, wuT, 9uvs
Pupa, Larva, Egg, Adult
B
w1, 91al, ST, TP
Larva, Pupa, Egg, Adult
C
qrat, wguT, 3ieT, Iuvd
Larva, Egg, Pupa, Adult
D

Correct Ans : A
Subject : BIOLOGY graduate

Q.No: 24 The beak in sparrows is .

2616035
A HAE_ FA R
Fruit eating type
A
Bd @H & forw
Seed-eating type
B
die @1 & fag
Tearing and piercing type
C
BTSA 3R WeA & frg
D cutting type
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FTeq & g

Correct Ans : B

Subject : BIOLOGY graduate

Q.No: 25 According to Harper, which property is not concluded when two plant species co-exist?

2616050
TR ¥ SR, Sfd &) el BT yerifeal Tg-ifkia & St 8, dF SH-91 7707 Yo T B 22
Nutritional requirements
A
ot Yeeht Sazgeang
Causes of mortality
B
g R F RO
Sensitivity of controlling factors
C
=T sR®T B HdgT=herdr
Causes of Natality
D

S & BRI
Correct Ans : D

Subject : BIOLOGY graduate

Q.No: 26 What are the external forces acting on the body if the billiard ball is resting on the table?

2626178
gfe faferas @t g A9 R &l df TR R @ 91t S1el 9@ R 72
Gravitational force and Contact force
A
TFaTPyUT 99 3R YUP 9
Non-contact force and Gravitational force
B
R AUF 90 SR [Eardyur aa
Only gravitational force
C
Fad TEATHYU g
Only non-contact force.
D

Faa R-Tud Tal
Correct Ans : A

Subject : PHYSICS graduate

https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2Sg3feb2023grive_adminPanel/Final_Model_Answer.aspx 12/89



4/16/23, 10:34 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2Sg3feb2023grive_adminPanel/Final_Model_Answer.aspx

Q.No: 27 Which type of motion is produced by the movement of the door of the almirah ?

2626188
TR & ATl & feem ¥ fFd UeR 3 7fa Iad Bt 82
Rotational motion
A
ol Wi
Linear motion
B
Mas afa
Oscillatory motion
c
EE R
Circular motion
D

givuq a1 gitg iy
Correct Ans : A

Subject : PHYSICS graduate

Q.No: 28 Which of the following material doesn’t obey Hooke’s law?

2626203
fufafad & 9 oF a1 uerd g% & a9 &1 ura T8 dRar 82
Rubber
A
TS
Steel
B
i
Aluminium
c
ki CURRL]
All the above material
D

IRIed gt arwEh
Correct Ans : A

Subject : PHYSICS graduate

Q.No: 29 Which is defined as the ratio of normal stress to volume strain within elastic limits?
2626204

TreeR Hrsit & R I yfaed SR g fasfa & su & w0 & fd uRanfid 5o wmar 82

A Young modulus of elasticity
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AT & G AIUTR

Bulk modulus of elasticity

B
g & die wuiS
Modulus of Rigidity
C
PRI BT AUIS
Poisson’s Ratio
D

giat $T ST
Correct Ans : B

Subject : PHYSICS graduate

Q.No: 30 What is the shape of the incident and diffracted wavefront in Fraunhofer's diffraction?

2626218
HIITRIUR fdad & smufaa qut faaffa aam &1 MR & giar g 2
Plane
A
qHTA
Elliptical
B
St
Cylindrical
C
YEATER
Spherical
D
MeeR

Correct Ans : A

Subject : PHYSICS graduate

Q.No: 31 In which method electric charge is created by mechanical stress?

2626253
fora fafy & gife vfdea gr1 faya smawr S g 82
Piezoelectricity

A
Ferroelectricity

B

C Electrostriction
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EREEIRCRIE]

Electret

TR

Correct Ans : A
Subject : PHYSICS graduate

Q.No: 32 Which one of the following components is a non-linear circuit component?

2626264

fRafafad gee! # § o1 e RIIWS Ffhe g 82

Resistor

IR

Inductor

ST

Capacitor

PURIR

Transistor

giforex

Correct Ans : D

Subject : PHYSICS graduate

Q.No: 33
2626265

https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2Sg3feb2023grive_adminPanel/Final_Model_Answer.aspx

Which is the correct expression for the electrical resistance of the circuit?

wfdhe & fagga ufRiy & fow e siftreafaa 1 o 82

1
= * current * voltage

~  FaegeT « dieest

Current

Voltage

R
aire

Voltage * Current

dieea x thic
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Voltage

Current

=1
FiT

Correct Ans : D
Subject : PHYSICS graduate

Q.No: 34 When an oscillator is subjected to external periodic force, which type of oscillation exists in anoscillator?
2626278

9 U e aTel 3MMafd 5o & 37ehH 8iaT 8, dl U aldd H {6y UPHR BT SIa Bidl 872

Forced oscillation

A
e quf e
Damped oscillation
B
Sraufd qre
Free oscillation
C
qad gre
Both forced and free oscillation
D

o quiaik gad gl grae

Correct Ans : A

Subject : PHYSICS graduate

Q.No: 35 Which relation is used to find the wavelength of the light source used in biprism?

2626293
f&freT & vged veTr Hid Bt aTee I R F AU e ey o1 yanT far w82
A=
jn}
A
}*.:mE
jn}
2D
).=tl)?
B
2D
).=tl)?
C
Rzmi
2D
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d
A=w—
2D
D
A=w—
2d
D
D
}l—ma

Correct Ans : A
Subject : PHYSICS graduate

Q.No: 36 Which of the following cannot be measured by a cathode ray oscilloscope?

2626328
frafafed & & frd Frs Y siftal Wiu gR =&Y A1aT o SR ?
Power
A
wifea
Frequency
B
amafr
Phase difference
C
TROT e
Pulse width
D
LG ISE

Correct Ans : A
Subject : PHYSICS graduate

Q.No: 37 Read the following statement and find the correct answer.
2626329

A. Vertical Amplifier amplifies the signal at its input prior to the signal being applied to the vertical deflection plates

B. Horizontal Amplifier amplifies the signal at its input prior to the signal being applied to the horizontal deflection plate.

Frofifad Hu @l ufgy 3R T8 SR gfeul
A. dad faguur @ef W Ry 9 gF ¥ Ugd 9 Fel THAIBRR $U $Ye R Rud &) 9Tar §
B. &fast yadfe afast f3amu we W Riged I 81F ¥ Tgd 3tH 3Ye R R &I JTd 31

A is correct B is incorrect

A WE g B IEd ?

B A is incorrect and B is correct
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A TTEd 3 3R b UE 7

Both A and B are correct
C

A 3R b ST W ¥

Both A and B are incorrect
D

A 3R B g Taa §
Correct Ans : C

Subject : PHYSICS graduate

Q.No: 38 What is the gain of the inverting voltage feedback op amp circuit?

2626333
SIS dieesl Bieas ST TRRR afbe &1 aiv fpae gr1 Ruild fbar o g1
Rfb
A
A= Hin
Rip
A= 1+ D
Rib
B
A= 1+ D
Etb
A= E
Rin
C
A= Do
Rin
A= ﬂ
Rin
D
A= ﬂ
Rin

Correct Ans : D

Subject : PHYSICS graduate

Q.No: 39 Which one of the following is not the passive component?
2626338

frafafed & @ o9 o Fispy gee 781 82
Resistors

A
wfeRiy

B Transistor
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giforex
Inductors
C
ESL
Capacitors
D
Fufrex

Correct Ans : B

Subject : PHYSICS graduate

Q.No: 40 Write the equivalent AND form of inverse law in Boolean algebra?

2626353
fera sierTiord #, AND BT Sepd @l & =g & feran e 81
XX =0
A
XX =0
XX =1
B
XX =1
X+X=0
o
X+X =0
X+i=1
D
X+¥=1

Correct Ans : A

Subject : PHYSICS graduate

Q.No: 41  Which type of circuit uses past inputs to determine present outputs indicates we must have event ordering?
2626354

A 33eye &1 uiRd B & o HH 1 Ffdhe Ao 37Ye &7 IUT FxaT 8 I8 <ifar § i g9R U gde sifshar g anfgu?

Combination circuit

A
Y "fdbe
Sequential circuit
B
TS Afbe
C Data processing circuit
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SRMART gfhe

Arithmetic circuit

STy Tffe
Correct Ans : B

Subject : PHYSICS graduate

Q.No: 42 Read the following statements-based superconductivity and choose the correct option.
2626368

Statement A: Super conductivity is found in metallic elements in which the number of valence electron Z lies between 2 and 8

Statement B: Materials with the product of humber of valence electrons and the resistivity does not show superconductivity.

fferareredr R aneid Pafifed su-ie) uRy oIk 98 e &1 77 Hifu

HYT A: GR bfaefadt urg el § uré ot & fored ok e z @1 g 2 3R 8 & d Bt @
PYT B: I AL B WA R UfoRILBTT P IS el I siferarasar et i3 21

A is correct and B is incorrect

A
A TE ? 3k B T @
B is correct and A is incorrect
B
B eI ¥ ok A Ted ¥
Both A and B is correct
c
A 3R B 3 WEI §
Both A and B are Incorrect
D

A 3R B 3 Taa &
Correct Ans : A

Subject : PHYSICS graduate

Q.No: 43 Which one of the following gives the temperature dependence of the total black body energy flux E?
2626403

o Soll FaTg E B 1w R frud gr T 7

E=g/T*
A

E=o/T*
B E=T%e
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E=T%co

E=oT*
(o}

E=oT*?

E=oT®
D

E=oT®

Correct Ans : C

Subject : PHYSICS graduate

Q.No: 44 Nicol prism is called as which type of crystal?

2626413

feia fisa &) fbd UbR 31 fbted Fer oar 32

CaCO;
A

CaCO;

CaCo,
B

CaCOa

Ca,COs
C

Ca>COs5

Ca,CO
D

Ca,CO

Correct Ans : A

Subject : PHYSICS graduate

Q.No: 45 Which one of the following is correct with respect to Zener breakdown?
2626428

IR SHeed & Jay # Ffifed & ¥ o a1 98l 82

Zener breakdown occurs because of the collision of the electrons inside the p-n junction.

A

p-n SRM & 3R AT P TP & PRUT SR FH SIS el gl

After the Zener breakdown the junction regains its original position.
B

AR FFSIST & 91¢ SR Ut gat fRAR B g4: yred Far 21
C Zener breakdown occurs in high doping material.
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I ST ATl § SR FHSTST ar 21

Zener breakdown voltage is inversely proportional to the temperature.

SR B SIS diees AU & YapHTUTd! gidT 21

Correct Ans : A

Subject : PHYSICS graduate

Q.No: 46 In which region, the transistor acts as an amplifier?

2626443
TiforeR fra 8 o vyade & w0 § 1 ol 82
Active region
A
wfera &=
Cut-off region
B
Fe-31E &
Saturation region
C
Aqfe &
Breakdown region
D

ABSIST &
Correct Ans : A

Subject : PHYSICS graduate

Q.No: 47 In which one of the factors nuclear stabilities cannot be determined?

2626478
59 U BR® T AT Rar Fuffed 7 &) o gt 82
Neutron-proton ratio
A
Electron-proton ration
B
The packing fraction of the nucleus
C
M ®1 AT o
The binding energy per unit nucleon
D

Y St ufa gfe fematT

Correct Ans : B
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Subject : PHYSICS graduate

Q.No: 48 Which is proportional to volume binding energy of the nucleus in liquid drop model?
2626484

fafs Sfu dise & e P SadH e FHoll & FHHU BIF 91 872

Atomic number

A
TRHTY] H&=AT
Mass number
B
oA HET
Number of neutrons
C
et # wem
Mass defect
D

Soqu § wut
Correct Ans : B

Subject : PHYSICS graduate

Q.No: 49 Which type of cell has exactly one lattice point?

2626503
frg UHR F I § aRad § T el fiig g 32
Primitive lattice cell
A
e Sreft At
Winner-Seitz cell
B
Simple cell
C
e 9
Common crystal cell
D

I fhea a9
Correct Ans : A

Subject : PHYSICS graduate

Q.No: 50 Read the following statements based on Laser and choose the correct option.
2626518

Statement A: The pumping method employed in He-Ne Laser is electrical pumping method and is based on four level pumping
schemes.
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Statement B: Helium-Neon Laser was first gas Laser to be invented by Ali-Jawan in 1961.

AR R Nyid Fafiad syt &) Uit ik I fasey o1 w7 Fifvm)

FYT A: He-Ne AoR T Faiifora ufiti fafy fagga ufdti fafy § oik g8 IR wash uffth aerret W emenfa §1
Y B: gifcraH-Faia AoR 1961 # 3ref-SiaM gRT SMfIspR f5ar S aral ugen 79 Aok ol

A is correct and B is incorrect

A
A TE & 3R B T @
B is correct and A is incorrect
B
B T ? 3R A Tad 3
Both A and B is correct
C
A 3R B G w61 §
Both A and B are Incorrect
D

A 3R B gl e &
Correct Ans : C

Subject : PHYSICS graduate

Q.No: 51  Which of the following is not a limitation of Bohr’s theory?

2622769
frofafed & @ o IR F Risia o @ = 32
The Zeeman effect
A
S yvTe
Spectra of hydrogen and hydrogen-like atoms
B
BTggIer 3R gTEGIor o TRATYSH T et
The dual character of an electron
C
TF FATE BT T IRA
Spectra of multi-electron atoms
D

Tg-gAag TRHTULSH BT FagT
Correct Ans : B

Subject : CHEMISTRY graduate

Q.No: 52 Which of the following is a proper condition for ¥ to give meaningful results?
2622773
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g aRtons eor & A ¥ & fav Aeafafaa & & olq & sfog fafa @2

¥ must be double-valued.

A
W T EIEIT A §lT T80
The values of ¥ must suddenly change with the change in its variables.
B
W EH AT SHF T F IRGdA & T HIEG gafad gl ameT|
The probability of finding an electron in the space under consideration must be zero.
C
faarrdia siafver & oo sdeg @1 @i &t WHIET A gL a1feal
¥ must be zero at infinity.
D

W HAT W YA BT A1M6T|

Correct Ans : D

Subject : CHEMISTRY graduate

Q.No: 53 Which of the following contains the conditions for a solvent to be suitable for dissolving ionic compounds?
2622779

fofafea § 9 frad smafe el B 41 A & o faaaes & Iugad g1 @ 2 82

High dipole moment and high dielectric constant

A

I fayda &or 3R I= ST fRRIE

High dipole moment and small dielectric constant
B

3= fagydha &ror ofik o sraTee fRRI®

Less dipole moment and small dielectric constant
C

U fgyda eror 3R o srTas fRRIE

Less dipole moment and high dielectric constant
D

%Y fgya amyuf iR 3= Wdggai®

Correct Ans : A

Subject : CHEMISTRY graduate

Q.No: 54 To which of the following options, the (VSEPR) Valence Shell Electron Pair Repulsion theory cannot be applied to?
2622794

fafafaa o ¥ fow fawe & g, (VSEPR) TaiSiddl I Sade g ufasyur Rigid @y &t far s g 82

Distinguish s, p, d, and forbitals.

s, p, d 3R Bifdc F dI¥ 3R P
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Predict shapes of coordination compounds.

B

a9 ST & AR F qd-FoAT ST

Quantify the extent of distortion in the molecules having irregular geometries.
C

sifrafia s ardt aroet & Rigfar @t wmr fufRa s

Ionic compounds.
D

3mafe AR

Correct Ans : D

Subject : CHEMISTRY graduate

Q.No: 55 wWhich of the following molecules exhibits sp?d? hybridisation?

2622795
frafal@d # & &1 a1 3797 sp*d’ ST veieia & &2
XeFy
A
Xely
IF;
B
IF;
CIF;
C
CIF:
XeF:
D
XeF:

Correct Ans : B

Subject : CHEMISTRY graduate

Q.No: 56 Which of the following is represented by the given figure?
2622809
H

-/

[

o |
5&3 e

H ~—p
—|/ '
fafafad # ¥ &1 a1 fou v fo grT <wifar ma 82
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H
® s'
Gi&

Iy
\‘\\ // '|
Newmann projection of ethane

¢
C-

.'";l \
H iy
-

A

A9 &1 AT vy

Sawhorse representation of methane
B

HAT o1 AR wfafftra

Fischer representation of methane
C

AT 71 e yfafifta

Sawhorse representation of ethane
D

39 31 AERY il
Correct Ans : D

Subject : CHEMISTRY graduate

Q.No: 57 Which of the following is NOT correct information regarding Friedel-Craft’s alkylation reaction?

2622851
Pl & 3 319 & Biea-Hioe 1 b ufifdar & aR # 98 SHeRI T8 82
Alkyl halides cannot be used.
A
JePIZH FATSGH BT IUUNT A8} fHar o Webar 21
Aryl halides don’t react.
B
v gamgew fafar €
This reaction doesn’t work on aromatic rings substituted byv- NO; groups.
C
5 9T NO, gl qanT Sfrefie gufeed oo o Fe g e |
Only alkyl halides can be used.
D

FId AP ATSST BT SN a1 &1 THaT Bl
Correct Ans : A
Subject : CHEMISTRY graduate

Q.No: 58

2622852 Allzyl groups attached to the aromatic ring. by oxidation with KMnO,. are converted to

which of the following groups?
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KMnO, & 672l HIFHHI0T g@RT GATHd aeid § of3 Hohlse GHp. Hefafad 73
fore wog & TR@fdagrama &7

Carbonyl groups

A
FrEia Tgg
Hydroxyl groups
B
REEUEEEREY
Amino groups
C
St wE
Carboxyl groups
D

PrElfead 998
Correct Ans : D
Subject : CHEMISTRY graduate

Q.No: 59 Which of the following does not occur in the case of tertiary alkyl halides?

2622861
g Uepa garsel & A B Fofoiad § 9 o 91 76 811 82
Sxl substitution
A
Syl gfdEmgeT
E1l elimination
B
E1 e
52 substitution
(o)
Sy2 ufdeand=
E1cB elimination
D

ElcB 3
Correct Ans : C
Subject : CHEMISTRY graduate

Q.No: 60 Which of the following reacts with benzaldehyde to form mandelonitrile?
2622876

frafifed & ¥ P11 sNfSeRs & Ty fifhar = B3 e a-md 82

A Phosphorus pentachloride
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PP IRY JeTaiRIgS
Sodium hydroxide
B
LUEELRGESICHIES]
Hydroxylamine
C
QESIESEITIER]
Hydrogen cyanide
D

LECIERRIERIES)
Correct Ans : D
Subject : CHEMISTRY graduate

Q.No: 61 What happens at the critical solution temperature for a system of partially miscible liquids?

2622891
3R TU F Mgyl e verdf @t yuneh F fw Aewyul TETE dvEE W T g 82
The liquids become completely immiscible.
A
%a yofaar sifisoia 8 o 7
The liquids become completely miscible.
B
%q qufaar frgofig g s €1
The amount of one liquid becomes more than the other in the system.
c
ey # U e B A6 g 3 ga § fire @) ot 81
The mutual solubility is diminished.
D

ST ger=iear o g el 2

Correct Ans : B

Subject : CHEMISTRY graduate

Q.No: 62 Which of the following is a characteristic of amylopectin?

2622933
frafifed & 3 o ufianfee ot v 82
It is soluble in water.
A
Tg Uit ¥ gosha 21
It gives a blue colour with iodine.
B
g TSN F a1y Frem T AT 21
C It gives a violet colour with iodine.
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Ig I & |y FT 1 a1 R

It comprises 10-20% of starch.

TN 10-20% W giar &1

Correct Ans : C

Subject : CHEMISTRY graduate

Q.No: 63 An atom on the edge of a cube, contributes how many parts to each unit cell?

2622943
TP 99 & [HIR W T T WA, YA Thd HIHT H fha U &1 GRIE T 82
Fully
A
@ wRE A
Half
B
3reT
One-fourth
c
TP g
One-eighth
D
araat fgwn

Correct Ans : C

Subject : CHEMISTRY graduate

Q.No: 64 What is the number of atoms per unit cell in a simple cubic structure?
2622944

TH YR g1 W1 § Ui uhes It B wAsit &) e fha gt 82

4
A

4

8
B

8

6
C

6

1
D

1

Correct Ans : D
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Subject : CHEMISTRY graduate

Q.No: 65 Based on the concept of collision theory, which option is correct?

2622958

Tae Rigid B S[@YReT W eRd HIF a1 fiwe T8l 82

Activation energy = reacting molecules’ energy + threshold energy
A

wfgo Sut = yfafear $33 ara sropeif &t ot + guma e

Activation energy = reacting molecules’ energy — threshold energy
B

Ffrgur St = wfafrar w3 I srupsit it ot - gurg et

Activation energy - reacting molecules’ energy = threshold energy
C

wfsraor Sui - wfafrar He I st &t Hoif = gura SHwi

Activation energy + reacting molecules’ energy = threshold energy
D

Tftrgur St + ufafrarsia srpsit # Seif = guma St

Correct Ans : D

Subject : CHEMISTRY graduate

Q.No: 66 Which of the following set of lanthanoid ions exhibits red colour?

2622973

TATSS 3T BT Fufafad § § $F 91 9ug Ad 1 Yeiid Hear 82

La** Lu**
A

La** Lu**

Prit Tm3*
B

Prit, Tm?

Sm3*, Dy
C

Sm¥*, Dy*+

Nd** Er**
D

Nd** Er**

Correct Ans : D

Subject : CHEMISTRY graduate
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Q.No: 67 Which of the following carries amino acids in an activated form to the ribosome for peptide-bond formation in a sequence dictated by
2623015 the mRNA template?

e & 9 $9 wWeRTT e gRT Fuia srwa & Upee-sis oq & fau wsaiy & witsg ¥ & oA o O W 872

Ribosomal RNA

A
AFEEIA HREY
Transfer RNA
B
RITIART 3RTY
Micro RNA
C
HIEH! ARTY
Messenger RNA
D

IR IRTY
Correct Ans : B

Subject : CHEMISTRY graduate

Q.No: 68 Which of the following and phenol react to give condensation products and the reaction is always catalysed either by acids or bases?
2623025

i § ¥ S 91 3R b G Idare 37 & e ufafthar war 2 2R ufafear gaen enet a1 &R gRy IARG gidt 82

Alkenes
A

LG e

Alkanes
B

b

Amines
C

TS

Aldehydes
D

LIEHES)

Correct Ans : D

Subject : CHEMISTRY graduate

Q.No: 69 What is the melting point of pure PETN, which is a white, crystalline solid?
2623040

& PETN &1 a1 o1 8, ST U Tihe, fhedia 31 72
A 120%C
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141.3 33t AfRmw
Correct Ans : D

Subject : CHEMISTRY graduate

Q.No: 70 What is the other name of the propellants that are without any metals and have exhaust free of nucleating species, such as HCI?
2623041

T UUliGe! T GERT H &1 § i foT et erg & § IR werdive SR gieeafe yonfadt @ ged 82

Reduced smoke

A
B Yo
Minimum signature
B
YAqH &R
Smoky
C
?ﬁ{
Minimum smoke
D

gATH Y3ii
Correct Ans : D

Subject : CHEMISTRY graduate

Q.No: 71 The first commercialized polyolefin was a low crystallinity, low density polyethylene. Where was it produced in 1939?
2623055

UgS GG Ureieiafth U ®H fheeciiadl, BH O-d arell Uratdi= &t 1939 F U1 Ide Hel gafl UT?

New York
A

San Francisco
B

/7 Wikt
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Ireland
C

ITIRAS

England
D

Correct Ans : D

Subject : CHEMISTRY graduate

Q.No: 72 What happens to the mean free path of a molecule under the following conditions?

2623097
ot uffRufeat & o] & H1eT gad Uy &1 o 8T 82
Increases with an increase in pressure.
A
3ara # i & 1Y 9ea1 g1
Increases with an increase in molecular collision rate.
B
JMUIfae TagH o) W gy & A1y Tgar 21
Decreases with an increase in molecular collision rate.
Cc
MU Wugd &R # 9 & 1Y °e ot 2l
Decreases with an increase in temperature.
D

A # gfE & A1y gear @
Correct Ans : C

Subject : CHEMISTRY graduate

Q.No: 73 WWhat is the type of curve obtained for CHy and CO as a deviation from ideal behaviour, when
2623107
plotted for PV versus P at 0°C?

3Tge suaE R & faae & ¥4 § CH, 31 CO & v &8 weh{ &7 as ored gaT &, S PV
FATHP & 10 0°C 9T weiE T ST 87

PV increases with pressure to a maximum value followed by a decrease.

it gara & QY SAfHaH A 9F TedT @ 3R TP 91¢ "edl gl

PV decreases with pressure to a minimum value followed by an increase.

Wt TP YA Geu & 91 & A1y veal § i a1 afS gt 21

PV increases continuously with pressure.

it gama & 1Y AR TedT 21
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PV decreases continuously with pressure.

it aTa & 1Y AGR U STl @
Correct Ans : B

Subject : CHEMISTRY graduate

Q.No: 74 Which of the following occurs as highlv stable orange crvstals with a melting point at
2623122 174007

T T & ¥ &I 174°C W oA & 919 AcATee 0] AT (el & &9 7 aidl &7

Methyl Lithium

A
Ryurge fafrw
Sodium Chloride
B
JfETH FARISS
Ferrocene
(o}
BRI
Ethylene
D
IELIE]

Correct Ans : C

Subject : CHEMISTRY graduate

(226'\12(;17_.‘,'57 Polvchloromifluoroethvlene is soluble in a number of solvents above 100°C and the polvmer
is tough at -100°C_ At what temperature, it retains useful properties?
UefieaRIferRITRel= 100 33 ARTT ¥ IR B8 Tedeq H gorid & ok UierR - 100 3t AfREH W & 21
59 QU R g8 IUGHT T[T HY RBIR T 82
90eC
A
90 &t Afkraw
3neC
B
30 33 Afcraw
150°C
C
150 f&7h Ifcraw
D 200°C
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200 33t Aferaw
Correct Ans : C

Subject : CHEMISTRY graduate

2625464 L1t
The rank of the matrix A = [1 1 l]is:
1 1 1
1 1 1
a=E A=|1 1 1| #=¥wE
1 1 1
0
A
0
1
B
1
2
C
2
3
D
3

Correct Ans : B

Subject : MATHS graduate

Q.No: 77

1 -1
2625465 Eigen values of the matrix A=|0 -2
0 0
1 -1 2 :
Heg A=|o0 —2 1| & HEF A &
o0 0 3
1,-1,2
A
1,-1,2
0,-2,1
B
0,-2,1
C 0,13

https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2Sg3feb2023grive_adminPanel/Final_Model_Answer.aspx

36/89



4/16/23, 10:34 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2Sg3feb2023grive_adminPanel/Final_Model_Answer.aspx

0,1,3

1,-2,3

1,-2,3
Correct Ans : D

Subject : MATHS graduate

Q.No: 78

. . 6 inB
2625468 The Eigen walues of the matrix A = [CDS s

: is/are:
sinf —cosEl]

ITETE A = [coslfl sinB ] & ST AT B

o sinB —cosB

cosf,sin B
A
cosf,sin B
=+ sinf
B
+ sin@
+1
C
+1
0
D
0

Correct Ans : C

Subject : MATHS graduate

.No: 79
26205434 Ify = xe*thenD" y=

gy = xe¥dd D"y =

e!i
A
e!ﬁ
B xe¥
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X ef

(x+1)e*
C

(x+1)e*

(x +n)e*
D

(x+n)e*

Correct Ans : D
Subject : MATHS graduate

Q.No: 80 2a
2625496
f x3(2ax—x2)¥? dx =

0

Za
f 3 (2ax —x2)3 2 dx =
0

3n

128

an
128

9ma”
16

ama’
16

71 a®

7ma®

7
384

T
384

Correct Ans : B
Subject : MATHS graduate
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No: 81 o e . - - . -~ L, —
(226205504 If a=ti—t*j+ (t— 1)k and b=2t21+6tkthmf01 a. bdt=

afr A=ti—t+ (- Dkaik b=2%+6tkaa [, T. b di=

2
A
2
1
B
1
1
2
C
1
2
1
2
D
1
2

Correct Ans : D

Subject : MATHS graduate

Q.No: 82 The centricity of rectangular hyperbola is:
2625512

YAIHR 3fATRTeT BT Iebgdl 8
0
A
0
1
B
1
V2
c
V2
D 1
vz
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1
E
Correct Ans : C

Subject : MATHS graduate

Q.No: 83 , .
2625513 which of the following is represented by

" |ty

(SN =]
(]

= 2 sin®

ﬁﬂﬁﬁ'@ﬁ#ﬁﬂﬁﬂ§=2ﬂnzgwﬁlﬁﬁmﬂ?

Parabola
A

WRaad

Ellipse
B

et

Hyperbola
C

SfaRaea

A straight line
D

TP TR ¥l
Correct Ans : A

Subject : MATHS graduate

Q.No: 84 The set of all integers is:

2625524
ol quifet o1 g 7
A multiplicative group
A
TP UTHS THE
An additive group
B
TP dIsd 9YF
A finite group
C
LLRINEERIL
A cyclic group
D

TF I 19 I8

Correct Ans : B
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Subject : MATHS graduate

Q.No: 85

Inthe set of rational numbers (). operation # is definedasa=b=a+b-ab. ¥a,be Q
2625525

then a € Qis:

afe, IRHT FEaT & AT Q # Hihar » 30 YR UNATUT § fharb=a+b-ab. Ya,b€ Q
dd a €Q &1 9fdelid &

Correct Ans : B

Subject : MATHS graduate

Q.No: 86 If f(x) and g(x) are non-zero polynomials over an arbitrary ring R, then deg [f(x) + g(x)] is:

2625536
TR f(x) 3R g(x) e Wed qa@ R | & YT §gUE 8, a9 deg [f(x) + g(x)] &:
> max[deg f(x), deg g(x)]
A
> max[deg f(x), deg g(x)]
= max[deg {{x). deg g(x)]
B
= max[deg {(x). deg z(x)]
C = deg f(x) + g(x)
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= deg f(x) + g(x)

= deg f(x) . g(x)

= deg f(x) . g(x)
Correct Ans : B

Subject : MATHS graduate

Q.No: 87 xam
2625544 lim {1 ——} =7
n—oo n

x mn
lim {1 ——} =7
n—oo m

e
A
e.‘(
e—?{
B
e—]{
e
C
e
o1
D
el

Correct Ans : B
Subject : MATHS graduate

.No: 88 1 d 1 ]
(22625552 If x = -, then —?——3= 0 Transform in to:
z dx x
1 dy 1
qfg x =>,dd 2 — 5 = 0 & gNafdd &7 @
z dx x
d
&D_4
dz
A
d
Z=1
dz
B dy _ _
dz
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dy _

dz

dy
dz

=0

dy

dz

Correct Ans : B

Subject : MATHS graduate

(22'6'\‘205:58!.,93 If u is a homogeneous function of x and v of degree n
NCRA S S R i
ax? dx dy dy?
"'-'l'ﬁ.'fu. xﬁ'ﬁﬁyaﬂuﬂ'ﬁaﬂ'mmﬁﬁa
2 0%u . 8%u 2 #%u _9
ax? T ax dy ay:
nu
A
nu
n(n + 1)u
B
n(n + 1)u
n(n-1)u
c
n(n-1)u
n(n + 2)u
D
n(n + 2)u

Correct Ans : C

Subject : MATHS graduate

Q.No: 90 A point x =a is called singular point of the equation
2625564

a a .
R(x) 33 + P 3+ R (x) ¥ = 0if
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d? d
U faeg x=a WAERT By(x) TZ+P(0)T + R(x)y = 0 RAfF

farg seemar ¢ afe:
Byla) =0
A
Pyla) =0
P, (a)=0
B
Pi(a)=0
P,(a) = 0
c
P,(a) =0
Py(a) + Py(a) + Py(a) =0
D

Py(a) + Py(a) + P;(a) =0

Correct Ans : A
Subject : MATHS graduate

QNo:91 —1 1
2625576 L {—.} =?
P +a-
L ()=
P+ as
sin at
A
sin at
sin"lat
B
sin"lat
1 .
—gin at
2
C
1 .
—gin at
2

t
b a sin (—}
a
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s
asin|-
a

Correct Ans : C

Subject : MATHS graduate

Q.No: 92 A set containing single non-zero vector is:

2625634

TS Y T T dTell T §

Linearly independent
A

FPd: T

Linearly dependent
B

IFPd: wad

Linearly independent and independent both
C

@wa: W Td W g

Neither linearly independent nor independent
D

T @ Wpa: Tadt =1 & YaPa: wad
Correct Ans : A

Subject : MATHS graduate

Q.No: 93 [fT: U — Vis a linear transformation from a finite dimensional vector space U to V. then:

2625642
e T U — vai#a fad afeer afdse vy v &F v fas saigeor & o
dim R(T) < dim U
A
dim R(T) < dim U
dim R(T) = dm U
B
dim R(T) = dim U
dm R(T) = dm U
C
dm R(T) =z dm U
dim R(T) < dim U
D

dim R(T) < dim U
Correct Ans : B

Subject : MATHS graduate
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Q.No: 94 Disjunctive normal form of function x.y in three variables is:

2625654
o =R H x.y F1 FaorT w0 8-
X.y.Z
A
X.y.Z
xy.z'
B
xy.z'
xy.z+xy.z'
(o}
xy.z+xy.z'
¥ Y.'I 2!
D
%' Y.'I 2’

Correct Ans : C
Subject : MATHS graduate

Q.No: 95 A lattice is a;

2625655
T WIS &
Simple set
A
TR J= T
Partially ordered set
B
3i7d: HH Y
Infinite set
C
3d qY=
Not a set
D
T et

Correct Ans : B

Subject : MATHS graduate

Q.No: 96 The formula for measures of coefficient of variation is:
2625666
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foraoT TquTie @1 WU B 9 7-
[
M
A
°
M
M
47
B
M
47
0
= x 100
C
% %100
M 100
(4]
D
M 100
O

Correct Ans : C

Subject : MATHS graduate

Q.No: 97 Two dice are tossed, the chance of obtaining a sum of 7 or 8 is:

2625674

& U B IBTE TR AT 7 A1 8 3 B TG B

11/36
A

11/36

7/36
B

7/36

5/36
C

5/36

13/36
D

13/36

Correct Ans : A

Subject : MATHS graduate
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Q.No: 98
2625682

If fis a function defined on [0, 1] such that:
f(x) = {{] , ifxis rational
= 7|1, ifxisirrational
then which of the following is correct for a partition o of [0, 1]7

Afe ®ea £.[0. 1] 59 YR gienag & &

f{'x)={“ , A xofFT g
' 1, afegx3aiFad
ad [0.1] & @EA o & fov TFafaf@a 7 ¥ &9 o1 981 &2

Ulf,o]l=0, LIf o]l =0

Ulfo]l=0, LIf ol =0

Ulfecl=1, Llfcl =1

Ulfal=1, LIfal =1

Ulfcl=1, LIfcl =0

Ulfal=1, LIfal =0

Ulfc]=0, Llfa]l =1

Ulfo]l=0, LIfol =1

Correct Ans : C

Subject : MATHS graduate

Q.No: 99
2625694
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The Cauchy’s Riemann equation are:

FIh S g -

du _du OGu _ dv
dx gy’ dx dy

du du du dv
dx gy dx dy

du  du du dv
dx gy’ dx dy
du gu du  dv
dr gy’ dx B dy
du dv  du  dv
dy dx’  dx dy
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du  dv du  dv

dy dx’  dx dy

du dgv  fdu _ dv

dr ay' dy T
D

du gv  fu _ dv

dx gy’ dy dx

Correct Ans : C

Subject : MATHS graduate

Q.No: 100

2625706 lim  nl/m =?
n—oo
lim nbt/m=?
n—o0
()
A
0
1
B
1
e
c
e
1/e
D
1/e

Correct Ans : B

Subject : MATHS graduate

Q.No: 101 Who is the author of the book “The Light We Carry: Overcoming in Uncertain Times”, published in 2022?

2022 & U1 YId g T3 Gt Bl: SRS 37 39 TR & Db B 872

2620169
Michelle Obama
A
e sftarm
Jill Biden
B
IEGACEL
C Melania Trump
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Aar=ar g

Laura Bush

T q
Correct Ans : A

Subject : Gen. Knowledge graduate

Q.No: 102 Who among the following is the author of the book Golden Boy Neeraj Chopra to be published in 20227?
2620176

2022 ® U1 89 arelt e ata IR et THe & g FEfiad § § BiF 82
Navdeep Singh Gill

A
Fadiy i frer
Ratnakar Shetty
B
IATHR A
Vineet Karnik
C
forfra wiftfe
Ramachandra Guha
D

IS ET
Correct Ans : A

Subject : Gen. Knowledge graduate

Q.No: 103 According to an article published in Conservation magazine, in which biosphere reserve in India human settlements are causing a
2620219 (gecline in the population of endangered Asian elephants?

TREIOT UAHT H UHIRIG U R & SR, URd § 59 iR Rord & A 9kl grava TR giidt &) siardt & fRiae &1 HRor a9 6 82

Sundarbans Biosphere Reserve

A
Yera TRwIRR Red
Nilgiri Biosphere Reserve
B
Hafii srrewTaR Red
Great Nicobar Biosphere Reserve
C
e PR TETRR Red
Panna Biosphere Reserve
D

AT R IR fYerd
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Correct Ans : B

Subject : Gen. Knowledge graduate

Q.No: 104 Which Indian conglomerate has launched India's first "Green" steel brand?

2620226
g YR T9g 3 URd &1 ygan "Aia Wd i df= fear 82
Kalyan Group
A
HETU TR
Kalpana Group
B
DUl 95
Kalyani Group
C
Hearolt TE
Kalki Group
D
@few gu

Correct Ans : C

Subject : Gen. Knowledge graduate

Q.No: 105 Which organization released its first global water resources report?
2620234

g TTe 73Ut Ugel Ay o TareA Ruié St e

World Meteorological Organization

A
fay Wiww fagme wwea
International Renewable Energy Agency
B
RPN e Set wordt
World Bank
c
fay o
International Maritime Organization
D

Jaigiy AfvergH Wrea
Correct Ans : A

Subject : Gen. Knowledge graduate

Q.No: 106 Which among the following was the capital of imperial Cholas?
2621890
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Frafied & & BI-H el <iel @1 st ot
Uraiyur
A
Sak
Tanjore
B
CEI
Vijaynagar
Cc
ICERELN
Coimbatore
D

PR

Correct Ans : B

Subject : Gen. Knowledge graduate

Q.No: 107 Who was the founder of the Imperial Chola dynasty?

2621891
SUiga/ e I AN S GRIUS B A?
Karikala
A
FiReTa
Amoghavarsha
B
SrTaauf
Vijayalaya
C
fasrarem
Rajendra Chola
D

I a
Correct Ans : C

Subject : Gen. Knowledge graduate

Q.No: 108 Under the Cholas Eripatti meant?

2621893
et & SHefiF whugt o1 @ o ure
Tank land

A
&P yfa

B Pasture land
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IRTTE Y
Waste land

dor yfy

Cultivable land

wdt @t ofx

Correct Ans : A

Subject : Gen. Knowledge graduate

Q.No: 109 What is T- bills or treasury bills?

2622095
A-foet a1 ot foer @ 2
Government securities
A
AR R
Current account
B
EIGEGIG]]
Subsidy bills
C
wferst faa
Bills on an exchange of gold
D

N F IEH-veH R |
Correct Ans : A

Subject : Gen. Knowledge graduate

Q.No: 110 One rupee coin is minted by which of the following?

2622096
& 39 o1 et Fafefed & @ forads gRT gra o 82
RBI
A
YR ford %
Government of India
B
YR PR
SBI
C
we §% 3w $fear
D Ministry of Finance
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o wamer

Correct Ans : B

Subject : Gen. Knowledge graduate

Q.No: 111 When was the demonetization of Rs 500 and Rs 1000 notes?

2622098
500 IYY 3R 1000 T & el BT YLD FHaf g3rT U?
8 November 2015
A
8 FgeR 2015
8 November 2016
B
8 4} 2016
5 December 2016
C
5 fodiw 2016
16 December 2018
D

16 fagsR 2018

Correct Ans : B

Subject : Gen. Knowledge graduate

Q.No: 112 On whose recommendation was the Reserve Bank of India established?

2622100
YR Rrd §F Bt RO fraet e iR &t 18 ot
Lawrence’s commission
A
aNE HHIERE
Cripps commission
B
v iR
Hilton’s commission
(o}
fRees weiiRE
ARC report
D
T3 fat

Correct Ans : C

Subject : Gen. Knowledge graduate
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Q.No: 113 To conduct the election of the panchayat and municipalities. Which type of body is constituted?

2622455
Uarrd 3R TR UiieTah & g1 B & e o YR & e &1 T e S 82
Election Commission of India
A
YRA & TG AT
State Election Commission
B
59 AT STNT
Panchayats Election Commission
c
TaTad AT ST
Municipalities Election Commission
D

TR UIfRIeT gHATa ST
Correct Ans : B

Subject : Gen. Knowledge graduate

Q.No: 114 What is the qualification of the members of the Election Commission according to the constitution?
2622458

TRAYH & STIR T RN & TSR Bt Aam T 32

Qualified Civil Services Exam.

A

Ty fafae dar adam

Practice law for more than 10 years
B

10 ¥ 3f¥e auf & e ena S

Former member of the State Election Commission
C

I AT ST & G G

Constitution does not prescribe any qualification
D

Tfye™ ®1E ggar Frufa T8 sar @
Correct Ans : D

Subject : Gen. Knowledge graduate

Q.No: 115 Identify the segment in the sentence which contains the grammatical error from the given options.

2621175
Eyebrow movement playing a major role in human communication.
A Eyebrow movement
B playing
C a major role
D human communication
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Correct Ans : B

Subject : Gen. English graduate

https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2Sg3feb2023grive_adminPanel/Final_Model_Answer.aspx

Q.No: 116 The following sentence has been divided into three parts. One of them may be incorrect. Choose the INCORRECT part from the given

2621191 options. If you don't find any error, mark ‘No error’ as your answer.

Planetary scientists use solstices and equinoxes / to defining ‘seasons’ for / other planets in our solar system.

Planetary scientists use solstices and equinoxes
to defining ‘seasons’ for

other planets in our solar system.

g o w r

No Error
Correct Ans : B

Subject : Gen. English graduate

Q.No: 117 Identify the segment in the sentence which contains the grammatical error from the given options.

2621207
Silicon Valley's optimism and the practical dreamers who keep it gone have long fascinated me.
A Silicon Valley’s optimism
B and the practical dreamers
C who keep it gone
D have long fascinated me.

Correct Ans : C

Subject : Gen. English graduate

Q.No: 118 Select the most appropriate word to fill in the blank.
2621240

Every few yards, he digs a shallow hole in the rich, red soil and
A plants
B stocks
C establish
D introduce

Correct Ans : A

Subject : Gen. English graduate

Q.No: 119 Select the most appropriate word to fill in the blank.
2621256

The world has a plastic pollution problem and it’s accelerating,

A but
B as

C since
D then

Correct Ans : A

Subject : Gen. English graduate

Q.No: 120 Select the most appropriate word to fill in the blank.
2621272

Tundra plants have developed adaptations that

the leafy sapling of an ebony tree.

so is public awareness and action.

them thrive in this harsh climate.
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A help

B helps

C helping
D helped

Correct Ans : A

Subject : Gen. English graduate

Q.No: 121 Select the most appropriate word to fill in the blank.

2621308 The Asian arowana, also known as the dragon fish, is believed the Chinese to bring good luck and prosperity.
A by

B in

C to be

D with

Correct Ans : A
Subject : Gen. English graduate

(226'\1201414252 Select the wrongly spelt word.
A Impateint

B Thoroughly

c Fortunate

D Particular

Correct Ans : A

Subject : Gen. English graduate

(226'\1201:416203 Select the wrongly spelt word.
A Interuption

B Quantities

C Imbalance

D Proposition

Correct Ans : A

Subject : Gen. English graduate

Q.No: 124 Select the meaning of the given idiom.

2621501
Throw caution to the wind
A The end of something
B To be without any money
C To take a risk
D To disagree

Correct Ans : C

Subject : Gen. English graduate
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Q.No: 125 In the following question, a sentence has been given in Direct/Indirect Speech. Out of the four alternatives suggested, select the one
2629903 \yhjch best expresses the same sentence in Indirect/Direct Speech and select your answer.

"Do your colleagues have any problem?" the manager asked the team leader.
A The manager asked the team leader whether your colleagues have any problem.
B The manager asked the team leader whether his colleagues had any problem.
C The manager asked from the team leader whether my colleagues had some problems.
D The manager asked the team leader whether his colleagues have had any problem.

Correct Ans : B

Subject : Gen. English graduate

Q.No: 126 1In the following question, a sentence has been given in Direct/Indirect Speech. Out of the four alternatives suggested, select the one
2629928 \hjch best expresses the same sentence in Indirect/Direct Speech and select your answer.

“Please take off your shoes before entering the temple?” The priest said to the devotee.
A Before entering the temple the priest said to devotee that shoes must be taken off.
B The priest told the devotee that he must have taken off his shoes before entered the temple.
C The priest warned the devotee as he needs to take off his shoes before entering the temple.
D The priest requested the devotee to take off his shoes before entering the temple.

Correct Ans : D

Subject : Gen. English graduate

Q.No: 127 1In the following question, a sentence has been given in Direct/Indirect Speech. Out of the four alternatives suggested, select the one
2629954 \hijch best expresses the same sentence in Indirect/Direct Speech and select your answer.

Vivek said to Anmol, "My mother is a very good cook.”
Vivek said that Anmol’s mother is a very good cook.
Vivek told Anmol that his mother was a very good cook.

Vivek said to Anmol whether my mother was a very good cook.

o 0o w »

Vivek has told Anmol that his mother is a very good cook.
Correct Ans : B

Subject : Gen. English graduate

Q.No: 128 In the following question, a sentence has been given in Direct/Indirect Speech. Out of the four alternatives suggested, select the one
2629999 \yhich best expresses the same sentence in Indirect/Direct Speech and select your answer.

“Have you finished your work, Anshuman?” asked Kamlesh.
A Kamlesh asked whether Anshuman has finished your work.
B Kamlesh asked from me that Anshuman finished his work.
C Kamlesh asked Anshuman whether he had finished his work.
D Kamlesh asked whether Anshuman had finished your work.

Correct Ans : C

Subject : Gen. English graduate
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(226|\130751!)279 Identify the segment which contains the grammatical error.
A The accused police officer Derek Chauvin

B was first fired and then charged

C third-degree murder in George Floyd’s death.

D No error

Correct Ans : B

Subject : Gen. English graduate

Q.No: 130 Which of the following is not an illustration of an electronic digital device?
2629668

frofafed & @ o W sdeee f$iiea fEarsa &1 Iemrur 7 82

Digital watches

A
fSforea ust
Computers
B
e
Digital cameras
c
fSforea daa
Bulb
D
g

Correct Ans : D

Subject : Gen. Science graduate

Q.No: 131 Who among the following is known as Father of Botany?

2631980
frafifea & @ 59 a7l foe™ & S & =u & ST 91 82
Aristotle
A
S
Charles Darwin
B
ared s
Carolus Linnaeus
C
e fafem
D Theophrastus
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ke

Correct Ans : D

Subject : Gen. Science graduate

Q.No: 132 Who among the following gave the Binomial nomenclature for naming the organisms?

2631981
frafafed # 9 fem sidl & Tmexu & o fgue Amexu feare
Charles Darwin
A
e S
Ludmila Kuprianova
B
wgsforan piHTar
Mikhail Fedonkin
C
firaTsa e
Carolus Linnaeus
D

e fafrem

Correct Ans : D

Subject : Gen. Science graduate

Q.No: 133 In which language the Biological names are generally written?

2631983
S T AR R e wre # ford S 77
Greek
A
gt
Latin
B
dfes
Italian
C
gerfer
English
D
gt

Correct Ans : B

Subject : Gen. Science graduate
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Q.No: 134 Which of the following diseases is caused by a virus?

2632060
Fafied & ¥ Bi-91 7 RNy & SR S 82
Typhoid
A
CIRPIRS
Cholera
B
&
Influenza
C
TS
Diphtheria
D
fSuiifvar

Correct Ans : C

Subject : Gen. Science graduate

Q.No: 135 Which of the following is a water-borne disease?

2632069
frafifad & @ oH-u1 9 9 /T 82
Smallpox
A
EEcd
Malaria
B
wifar
Tuberculosis
C
& AT
Cholera
D
L

Correct Ans : D

Subject : Gen. Science graduate

Q.No: 136 Which of the following is the chickenpox virus?
2632078

fRafafad # ¥ o 1 e uiey IRy 82

A Entamoeba histolytica
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Termtgar RRwifafes
Vibrio cholerae
B
fafsrat wrat
Bacillus Typhosus
C
CIGCR R E]
Varicella virus
D

Af¥eprem arRE

Correct Ans : D

Subject : Gen. Science graduate

Q.No: 137 What type of acid is found in tomatoes?

2633508
TR B 5y UHR &1 St U STl 52
Citric Acid
A
e
Oxalic Acid
B
SifqaTiere st
Lactic Acid
C
Affes st
Tartaric Acid
D

TERD 3

Correct Ans : B

Subject : Gen. Science graduate

Q.No: 138 For the following solution, the pH is less than 7:

2633509
fafafad fadaa & forg, tigg 7 A 7 ©: [
Sodium cyanide
A
wifsa wrgTES
Sodium hydroxide
B
LUSELRESICHIES]
C Sodium chloride
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AqfEan RIS

Ferric Chloride

Bite FRIgS
Correct Ans : D

Subject : Gen. Science graduate

Q.No: 139 The solution with a pH lower than 7 is:

2633510

7 A o1 dieg aren e #: |

solution of common soda in water
A

ot 7 3 ST F1 faeras

solution of baking soda in water
B

i & Qf st 31 faeas

solution of caustic soda in water
c

ot # wifes st 31 fdaa

solution of blue vitriol in water
D

T # i Y 1 faems

Correct Ans : A

Subject : Gen. Science graduate

Q.No: 140 Lactic Acid is present in -

2633512
Afde o IJufRyd BT § -
Vinegar
A
Rrer
Orange
B
ga¥
Curd
(o
&
Tea
D
EIU)

Correct Ans : C
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Subject : Gen. Science graduate

Q.No: 141 What is the maximum temperature and humidity for humans?

2639481
7w & U s auHM 3R s bt gt 872
25°F Temperature, 60% Humidity
A
25°F TT9HT, 60% 3HTsdl
25°CTemperature, 60% Humidity
B
25°C A9, 60% 3HTsal
60°C temperature, 70% Humidity
C
60°C TTTHT, 70% 3Tseell
25°Ctemperature, 70% humidity
D

25°C AGHM, 70% 3Tedl

Correct Ans : B

Subject : Gen. Science graduate

Q.No: 142 Identify the main part of the rock cycle.

2639482
A % F G YN I UgdH Biford|
Weathering
A
SU&d
Monitoring
B
IRRNE]
Erosion
C
e
Agriculture
D

P

Correct Ans : A
Subject : Gen. Science graduate
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Q.No: 143 What is the height of the permanent snow line in India?

2639483

Wl 9 A3 B YRd § AT 1 82

4500 m
A

4500 m

6000 m
B

6000 m

8000 m
c

8000 m

10000 m
D

10000 m

Correct Ans : A

Subject : Gen. Science graduate

Q.No: 144 A global network of computers all across the world is known as?

2635618
T R & SR & TP Af® Aead B 39 TY H SF @I 82
Intranet
A
T
Internet
B
g
Web Server
C
g wR
Web Browser
D

9 TSR
Correct Ans : B

Subject : Gen. Computer graduate

Q.No: 145 Each computer on a network is recognized by a unique
2635627

& Aeqs IR TP TR &I 06 Mfgdld _ GRI U8 o1l g
A IP address
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gt T

HTTP

T

HTTPS

WWWwW

TS s oy
Correct Ans : A

Subject : Gen. Computer graduate

Q.No: 146 Which of the following played an important role in developing common protocols for the evolution of www?
2635636

frofafed # @ fee www F oo & R MR Uicieid e S & Aeayul yie [ @

Web browser

A
39 AR
WWW Consortium
B
SEYsTYs <Y PaeaH
Internet Architecture Board
C
ge¥e IMfHeaR a1
Web server
D

3T IR

Correct Ans : B

Subject : Gen. Computer graduate

Q.No: 147 What kind of topology is most suitable for large enterprises that need to closely monitor and coordinate the operation of spread
2635684 pranch outlets?

S ST & o 5 UapR @t Audrel Fad SUgHd 7, S WS s seeded & Jarad &1 aiia! I FRM iR $lanféae &=a & fu snaxadar 82

Ring Topology

e Sraretsit

Mesh Topology

1 Syurrsit
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Bus Topology

9 crareisit

Star Topology

TR auare
Correct Ans : D

Subject : Gen. Computer graduate

Q.No: 148 Which of the following would compromise the integrity of the system?

2635693
frafifed # § siF-u1 R 3t AR @ gwehar e
Searching the room to prevent theft
A
T AP & g Hw B qeri o
Full access right to all users
B
it SuarTatai & R qof uga sfrer A
Fitting the system with an anti-theft device
C
Rreew & ©-Ave fSargd wmn
Protecting the device against willful or accidental damage
D

faapa ar snefRre afa 3 feama #1 JRem s

Correct Ans : B

Subject : Gen. Computer graduate

Q.No: 149 Which 2.4 GHz WLAN specification among the following enables for up to 54 Mbps?

2635702
fRafifed § ¥ H19-T1 AfEY 2.4 GHz WLAN &1 54 THEINTY d% &M §=1dT 872
a
A
a
f
B
f
g
c
D
b

Correct Ans : C

Subject : Gen. Computer graduate
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Q.No: 150 Which of the following protocols does Ping use?

2635723

o Fgfafed o ¥ fow Weisia o1 SuanT & 22

ICMP
A

ICMP

SNMP
B

SNMP

SDP
o

SDP

TCP
D

TCP

Correct Ans : A

Subject : Gen. Computer graduate

Q.No: 151 With respect to computer networks, which of the following is the full form of MAN?

2635753
FeR Aead & oy §, Fafafad # ¥ MAN @1 quf w9 7 82
Metro Area Network
A
Ag! T Aeah
Metropolitan Area Network
B
Agiferes TRaT Aead
Metropolitan Advance Network
C
A Iuifered Usaid Aead
Metropolitan Arial Network
D

Auifere Tiad Aead

Correct Ans : B

Subject : Gen. Computer graduate

Q.No: 152 With respect to computers, what is the full form of FDDI?
2635762

FYR F Ty W, FODI PT YUY &7 82
A Fiber Distributed Data Interface
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BIEeR fEEieges SeT vy

Fabricated Distributed Data Interface
B

Fsdes Fwieges a1 s

Full Distributed Data Interface
C

o Rwieges Se1 fexrw

Fibonacci Distributed Data Interface
D

wrEaA fsiees 31 sevha
Correct Ans : A

Subject : Gen. Computer graduate

Q.No: 153 AOQOL is a web portal, what is its full form?

2635771
AOL T® 39 UIEd B, SHDT HaA®H 31 32
Azeri Online
A
o aifarsT
America Online
B
YT SfarsT
Amor Online
C
3R 3ifarsa
Amber Online
D

TR 3Targa
Correct Ans : B

Subject : Gen. Computer graduate

Q.No: 154 CD-ROM is related to a computer, which of the following is its full form?

2635792
CD-ROM $ueR ¥ Fafid 8, g & ¥ 591 guiey 3 22
Compact Disk Read-Only Memory
A
Frge v fs st anRt
Common Disk Read Only Memory
B
F1a4 &% fs sielt a9
C Common Disk Random Only Memory
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1A &% YS9 el a9t

Compact Disk Random Only Memory

Pitige {5 Y0 si-e amd
Correct Ans : A

Subject : Gen. Computer graduate

Q.No: 155 Microsoft Word, Microsoft Excel, and Microsoft PowerPoint are the parts of?

2636045
AT 98, AISHINIUe Tad 3R HISHNIIe UaRuige fege fewam 82
Mac OS X
A
% 3ivw T
Microsoft Windows
B
AT fdets
Microsoft Office Suite
C
gt ATThT g
Microsoft Access
D

PN TR
Correct Ans : C

Subject : Gen. Computer graduate

Q.No: 156 Which of the following is not Present in MS word?

2636054
Frafeied # 9 H1-91 Ty 98 # Aigg el 82
Font
A
Bi<
Magic Tool
B
afore g
Underline
C
ST
Styles
D
EIg™

Correct Ans : B
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Subject : Gen. Computer graduate

Q.No: 157 Which of the following doesn't come under text Basics?

2636063
frofafed & @ oF-1 tTRe Ifiew & ofafa &Y o &2
Apply a Style
A
TS 3 WTEd
Delete Text
B
fSefte ewe
Insert Text
C
T TR
Save the document
D

{9 STagic
Correct Ans : A

Subject : Gen. Computer graduate

Q.No: 158 1In a class of 42 students, Nita’s Rank is 22 from the bottom what is her rank from the top?

2613882
42 Tt &) ue Pem & =i &1 wF Y § 2297 ¥, FW T ITBT ™M 7182
18
A
18
20
B
20
39
C
39
21
D
21

Correct Ans : D

Subject : Gen. Reasoning graduate

Q.No: 159 Find the missing letters in the series.
2614132

BKS, DMU, FOW, ......?
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fafaiaa sae & qu 18R I1d Dior?

BKS, DMU, FOW, ......?

TSZ
A
TSz
CHP
B
CHP
HQY
C
HQY
LNP
D
LNP

Correct Ans : C

Subject : Gen. Reasoning graduate

Q.No: 160 How would PARENT be written in the same code if LOVING is written as OLIVGN?
2614333

Tfd LOVING &I OLIVGN fora S o I &S H PARENT &1 ¥ forar Siaem?

APERTN
A

APERTN

ERAPTN
B

ERAPTN

TNERAP
C

TNERAP

RAPTNE
D

RAPTNE

Correct Ans : A

Subject : Gen. Reasoning graduate

Q.No: 161 A specific language has the codes "GUFT" as "[@7%2" and "FNIP" as "$59#." What will the same
2614340 cpde mean for "FING"?
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AT F15 FT T 7§

$95@

o L=
LA (Y=l
o (%3]
= ®

Correct Ans : A

Subject : Gen. Reasoning graduate

Q.No: 162 When do we sleep if "light" is named "morning," "dark" is called "night," "night" is called "sunshine," and "sunshine" is called "dusk"?

od "light" El "morning", "dark" 2l "night", "night" FI "sunshine" 3R "sunshine" &I "dusk" HgT ST & , dl 89 %9 Id &7

2614348
night
A
night
dark
B
dark
sunshine
C
sunshine
dusk
D
dusk

Correct Ans : C

Subject : Gen. Reasoning graduate

Q.No: 163 Answer the questions that follow the content after carefully reading it.

2614366

Some words and their codes are represented in the table below. Based on some pattern, the codes are assigned.

Word

TRAINED

AVENGER

STARE

Code

11

30

51

The numerical numbers in Columns A, B, C, D, and E represent the codes for the words requested. The column name in which the
asked-for word is encoded must be marked as your response. The words must be coded in the same way as the codes listed in the
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first table are done.

A|B |[C|D|E
41152386526
03 33]122(29]5

10 [59]25[06] 20
47 |87 |93 51|
193158 (57] 37

For instance: If the word STARE were the response, the answer would be "D".

Which of the following categories does the code for "MANDATE" fall under?

I B A W UgH & 91g 39D a1g A a1d Uil & IW <
1 < 78 arfereT H $© Wek 3R ITH Fe T MW S| FS Ued $ MUR R, HIS RATEH [bY 914 8

Word | TRAINED | AVENGER | STARE
Code 41 50 31

PIan T, o, W@, S &R § T Jeds T SRR Usal & T Fis o1 ufaffia axdt §1 Hraw o1 T s 7 T Wsg This foar m g,

et ufaferar & =u & Rifgd frar w1 1ftu) st &1 I aRE IS e ST =fge SR vl arfere ¥ YEies #is fbu e B

A|B [C|D|E
41152 |38 65| 26
03 33]22(29]50
10 [ 59]25 20
47 |87 |93 51| M
1931585737

JaTeXul & fAIE: afd STARE Wsg &1 3R gHdl, @l 3TR "D" Bl

fRafafad & ¥ & @ 30t "MANDATE" & T Sis & 3iaiid 3t 872

E
A

D
B
C

A
D

B

Correct Ans : A

Subject : Gen. Reasoning graduate

Q.No: 164 Priya walked 10 km towards the west from her home, then turned towards the south and walked 12 km. Then she walked 16 km
2614391 t5wards the east, and finally walked 6km towards the west. How far is Priya from her initial position?
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o orm =R ¥ 10 ol ufdm &t ok Tt B, R <fémn &t ok g oIt § R 12 fht gach 81 fR a8 16 forddt gd @t ok 9ot B, SR sid H 6
el Ul ) SR T 21 Rr o R A Q R R 27

10 km
A

10 foft

12 km
B

12 fft

16 km
C

16 foft

14 km
D

14 f&ft

Correct Ans : B

Subject : Gen. Reasoning graduate

Q.No: 165 A school bus driver starts from the school, drives 5 km towards North, takes a left turn and drives for 6 km. He then takes a turn and
2614415 (rjves for 12 km before taking a left turn again and driving for further 6 km. The driver finally takes a left turn and drives 3 km
before stopping. How far and towards which direction should the driver drive to reach the school again?

T A o9 9106 T I L BT 3, 5 [ IR 3 o g3a Il 8, I G518 3R 6 fbrht 9 g1ea oear 31 fR a5 gaar § ok fR @ ang
g A Ugd 12 el 3159 9l B oIk 31 6 ot S1ea IRl §1 SRR ofd H 91 gEaT § 3R T4 I Usd 3 il 35 9T 1 SRR B R
W Ugan & o faret gR SR forw fo=m & et gart anfew?

5 km, North
A

5 foefl, s

4 km, North
B

4 fodt, 3w

3 km, East
C

3 oY, o

5 km, South
D

5 fo, aféror

Correct Ans : B

Subject : Gen. Reasoning graduate

Q.No: 166 In the following figure, enter the omitted number in place of question mark (?).
2614433
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376
A

376

364
B

364

242
C

242

286
D

286

Correct Ans : A

Subject : Gen. Reasoning graduate

Q.No: 167 In the following figure, enter the omitted number in place of question mark (?).

2614440
7 |22 5
5 9 11
9 11 | 15
? | 77 | 160

fafafed a3, Uy g (?) & M N W I8 I1d Sifod |

7 |22 5
5 g 11
9 11 | 15
? | 77 | 160

A 160
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160
120

120
83

83

38
D
38

Correct Ans : D

Subject : Gen. Reasoning graduate

Q.No: 168 Read the given pattern carefully and select the number which can replace the question mark (?) in it.
2614466

fou 7 U ) @ Q@ ufey 3R 3T T &1 T FIvE o ITH Uy g o) ufawifig R gt g1

28
A

28

25
B

25

30
C

30

35
D

35

Correct Ans : B

Subject : Gen. Reasoning graduate

Q.No: 169 Which is the WRONG term in the following series?
2618475

RTPC, VWTF, ZZXK, DCBL, HFFO
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frafiRed saar & 7ad ug o a1 2

RTPC, VWTF, ZZXK, DCBL, HFFO

VWTF
A

VWTF

ZZXK
B

ZZXK

DCBL
C

DCBL

HFFO
D

HFFO

Correct Ans : B

Subject : Gen. Reasoning graduate

Q.No: 170 From the given responses, find the missing letter in the series.

2628938
ECI, JFG, OIE, TLC, ?
fau 7T faweul # 9 40t # P 31&R DI I PX:
ECI, JFG, OIE, TLC, ?
YOA
A
YOA
ADI
B
ADI
You
C
You
SOM
D
SOM

Correct Ans : A

Subject : Gen. Reasoning graduate

Q.No: 171 Find the odd one out from the given alternatives.
2629041

feu U fawedl o @ fawm d@m gm giHul
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257
A

257

145
B

145

122
C

122

288
D

288

Correct Ans : D

Subject : Gen. Reasoning graduate

Q.No: 172

>61660s Lhe perimeter of a rectangular table is 48 em. If the area of the rectangular table is 128 em®,

then what will be the length of the table?

U AR 29d BT URATY 48 It &1 Al MAIBR 290 BT AFhd 128 7 It §, A o B TS 1 g1l ?

10 cm
A

10 It

18 cm
B

18 &+t

16 cm
(o}

16 It

12 cm
D

12 &+t

Correct Ans : C

Subject : Gen. Maths graduate

Q.No: 173 Find the perimeter of a rectangle whose length is 23.5 cm and breadth is 16.5 cm.

2616615
T 3T BT URHTT T1d BT et dars 23.5 I 3R A@1erE 16.5 3t 21
80 cm

A
80 It

B 79.5 cm
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79.5 JH
82 cm
C
82 9t
80.5cm
D
80.5 It

Correct Ans : A

Subject : Gen. Maths graduate

(226'\1106:6127; The ratio of height and radius of a cylinder 1s 3:2. If the volume of the eylinder is 120007, then
what is the radius of the cylinder?
TS a9 Bl Gdls SR o1 BT 3 32 8| Al 9@ BT A 12000 7 8, Al deH 1 B
R g
30 cm
A
30 ¥
21 cm
B
21 9+t
10 cm
c
10 &+
20 cm
D
20 ot

Correct Ans : D
Subject : Gen. Maths graduate

Q.No: 175 A street of width 10 m surrounds a rectangular garden from outside, whose measurements are 200 mx 180 m. The area of the path
2616641 .

10 TR AT s, 200 Hex x 180 Hex AW e ATHR T BT TER T W U1 S FT ATH 7:

7600 square meter

A

7600 i Hiex

7200 square meter
B

7200 7 Hex
Cc 8000 square meter
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8000 T Hiex

9000 square meter

9000 T Hiex

Correct Ans : C

Subject : Gen. Maths graduate

Q.No: 176 The compound interest on Rs. 8000 in 1 year at 4% per annum the interest being compound half yearly is-
2616822

1 99§ & 8000 FU R 4% Uy a¥ Bt R F il Twpqfa = o 82

Rs. 752.45
A

752.45 30

Rs. 632.65
B

632.65 I

Rs. 323.2
C

323.2 0

Rs. 783.45
D

783.45 30

Correct Ans : C

Subject : Gen. Maths graduate

Q.No: 177 An amount of Rs 4000 lent at 10% per annum compound interest for 2 years will become-

2616829
2 auf & T 10% TfY 99 Iehafs e R IUR & TS 4000 FUA HT AR M grft?
4780
A
4780
5780
B
5780
4870
C
4870
4840
D
4840

Correct Ans : D
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Subject : Gen. Maths graduate

Q.No: 178 A sum of Rs 846.8 is accumulated in 2 years at 20% compound interest on a certain amount. Then the original amount (in rupees)
2616837 g

T A I R 20% Thdfs IS W 2 auf § 846.8 TUT BT AR w1 B A 71 g AR (FUT H) F 82

588.05
A

588.05

585.65
B

585.65

487.59
C

487.59

365.2
D

365.2

Correct Ans : A

Subject : Gen. Maths graduate

Q.No: 179
2617029 ' ' .
If . , then what is the value of x?
J=x+— _11
2 1+—l
| 2+
2
{ i
afe 3 el xHE &g
=x+
21 1
I+—7
L **3)
44
l)
A
14
9
i
9
B
i
9
c y
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Correct Ans : D

Subject : Gen. Maths graduate

Q.No: 180 . L . ]
3617036 Arrang; t]jle following fraction in increasing order:

4’5

b | =
S ]

1234
2345
1{:4:-’,2«::
2 2 3
A
1{4‘:::2{
2 3 3
2{13{1{:
3 T4 2
B
2{:3{1{:4
3 4 2 5
1{:2{3{
2 3 4
Cc
l{: {3{:4
2 4 5
None of the given options
D

fou g fawel & @ w1 T8
Correct Ans : C

Subject : Gen. Maths graduate

Q.No: 181 Arrange the following fractions in decreasing order-
2617044 =

4

7

2353
374797
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Frafefad @eer & ged w7 7 gafeud &1

2354
3497
5_4_2_ 3
ST T T
97 77 37 4
A
5_4_2_ 13
e Wi e
97 7737 4
3_2_4_5
el el ey e
473777 9
B
3_2_4_5
=iTme— Tmo T —
PR el el
g B 5 3
— T = T = T =
7737 97 4
C
& 2 5 3
— T = T = T =
773797 &
5_2_4_ 1
— T =T = T =
97 37 77 4
D
5_2_4_1
— T =T = T =
g g i

Correct Ans : B

Subject : Gen. Maths graduate

Q.No: 182 In what time a 250 m long train running with a speed of 30 m/s will cross a 200 m long bridge?

2617600

250 Hiex dat ¢ 30 Hex/Ads BT T ¥ FAD 200 Hicx dd §d B fova 900 & IR Hh?

20 second
A

20 ¥Fs

18 second
B

18 %8

17 second
C

17 ¥Fs

15 second
D

15 %

Correct Ans : D

Subject : Gen. Maths graduate
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Q.No: 183 A train crosses a 60 meter long platform in 12 seconds and a woman standing on the platform in 10 seconds, find the speed of the
2617607 4.

TP IS 60 Hiex TE Weh™ Bl 12 JHUS § T WehH R Tt Th AR HI 10 IHUs T UR FHRal 8, ISt @ T 1 I

90 km/hr.
A

90 km/hr.

100 km/hr.
B

100 km/hr.

102 km/hr.
C

102 km/hr.

108 km/hr.
D

108 km/hr.

Correct Ans : D

Subject : Gen. Maths graduate

Q.No: 184 Nandini covers a distance of 16 km downstream in a river in 4 hours and returns in 8 hours. What is her speed in still water?
2617615

et we 7 F 4RT F orgdd 16 [ Y gl 4 €2 & 77 Rt § 9k 8 He H Ay ol 81 FRR Wt A 3wt MY @ 72

3 km/hr.
A

3 km/hr.

2 km/hr.
B

2 km/hr.

4 km/hr.
C

4 km/hr.

5 km/hr
D

5 km/hr

Correct Ans : A

Subject : Gen. Maths graduate

Q.No: 185 Two trains leave at the same time from 2 stations 100 km apart and go in opposite directions and cross each other at a distance of
2617633 90 km from one station. Accordingly, what is the ratio of the speeds of those trains?
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100 frafier gr 2 WRF! ¥ €1 YINTEat U & Ty W gear faudid faxn & ot § ok 1 wrE ¥ 90 fhddier 3 gt R TF g & UR Flt

§| ITTOR, 39 YIS B MY HT U F 82

1:9
A

1:9

3:1
B

3:1

9:1
C

9:1

10:3
D

10:3

Correct Ans : C

Subject : Gen. Maths graduate

Q.No: 186 F 3w ” ;
5626733 fRefefaa & @ “Aeea -t 9 &1 9 Iererur 82

A T[T |
B gor |
C ararfe wfer
D & <t

Correct Ans : A
Subject : Gen. Hindi graduate

Q.No: 187 - -
5626738 ffefad # @ SI9-91 Wsg gur WR Y &1 Fel IR0 87

A [LEIE
B T4

C e
D RILIRCH

Correct Ans : A

Subject : Gen. Hindi graduate

Q.No: 188 . " . ¥
se2e743 | T+ IS F1 T8t Ot ug Fefafed 3 9 @ 82

A TS
B LRIEE
c Tage
D CUICES

Correct Ans : B

Subject : Gen. Hindi graduate
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Q.No: 189 . .
2626755 e & ¥ PIH-81 e ik WR Y BT Wl IR0 72

A Ha+q

B e
c s
D HATIE

Correct Ans : C

Subject : Gen. Hindi graduate

Q.No: 190 - "
5626936 efafed § @ “iede” &1 vafuar: s w1 82

A ffRre
B Iqqe
o 3R
D RIS

Correct Ans : A

Subject : Gen. Hindi graduate

Q.No: 191 : _ N " ;
5626941 fRafafad § ¥ SH-91 Wee “31eR &1 YaTgar Weq T8l 8?2

A Iqqe
B &ie
o 3
D Iy

Correct Ans : D

Subject : Gen. Hindi graduate

Q.No: 192 Frfifad § 3 “fave ~ &1 yaigar wss 1 82
2626946

A Pifa
B RIS
c S
D HeuT

Correct Ans : B

Subject : Gen. Hindi graduate

Q.No: 193 : :
26207152 fffad # @ Si9-u1 Wsg Iugl &7 UG B T = T 82

A PR
B BT
c gaum

D Lrpi

Correct Ans : D

Subject : Gen. Hindi graduate
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e T R AR L
A it

B H

C ufa

D @

Correct Ans : C

Subject : Gen. Hindi graduate

Q.No: 195 po o o .
2627164 # W -1 s I T WA R AL ST T §?

A wrart
B gRads
C g
D oqu

Correct Ans : D

Subject : Gen. Hindi graduate

Q.No: 196 : :
5627178 Rl § @ PF-91 Ise T0T BT TN &R gl ST 747 87

A B
B yquy

c faga
D i

Correct Ans : C

Subject : Gen. Hindi graduate

Q.No: 197 pofefda & & 32 IRd ard o1 907 iR

2627362

A farsht e 43 v Fud fui
B Tg 4 € IS &I IS T
C =T 3 TP e AR $I ARTI
D o | gfs 9@ W} Al

Correct Ans : D

Subject : Gen. Hindi graduate

Q.No: 198 : .
Seay36y TAIED H § aR & qoid: st T (I W3 A1) B 70T fore-

A FIEHY gl B Bd faars|
B ol B PIEHT Bd faars|
C Td g1 B Bl fQ@arsi|
D Il B B BIePH faarsn|

Correct Ans : D

Subject : Gen. Hindi graduate
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Q-No: 199 ity rapwr Ut sFTaRad Tet % TaNT 9 =Y ¥, FufifRd § ¥ $H-91 U a1 e © 2

2627372
A Pugl, W7 A O forg )

B TR BT UTTd H=a1 H1 faarg gHare 21
C ATeht dief #1 W e 81

D 3% 6T Yhe §1 M

Correct Ans : B

Subject : Gen. Hindi graduate

Q:No: 200 et s v % S WIeg, AT AT A UF WY A F, A I e B 7 s Fars a1 i g 22

2627562
A quifeRm g

B GLIECIGCEATES
c Sreqferm fag
D faazor forg

Correct Ans : C

Subject : Gen. Hindi graduate
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Group-2 (Sub Group -3)swachhta nirikshak, chemist and other
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Testdate 13 Feb 2023 v
TestSlot Shift 2 v
Submit

Q.No: 1 Which of the following transport protein is commonly visualized as a charged-lined, water-filled channel that extends across the
2612939 memprane?

frafifd & § SH-T1 U NdA R | Tol-ages, T J WX Id & Y & <61 o1l ¢ o Breel & uR et gin 82

Chaperones
A
AR
Channel proteins
B
EECRICE]
Carrier proteins
C
qED WA
Protomers
D
wrerad

Correct Ans : B
Subject : BIOLOGY graduate

QNo: 2 yoht dependent decrease in photosynthetic rate that may occur whenever the imadiance s in excess
2612950 of that required either for the photosynthetic evolution of O orthe photosynthetic assimilation of
CO:iscalled as g

HIA-H2TT &1 & YHRI-AR FHr ST dd &7 Tdhdl & od a0l 39 & ATEE & 51 a1 ar 0,5
TeRTel Teerdeh [dera & oI 3MaeT& &7 1 CO, & THET e Taiaie T &l FET AT &1

Photoreduction

el ReE

Photorespiration

BRI

C Photoinhibition
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wier sfRdRm

Photooxidation

el
Correct Ans : C

Subject : BIOLOGY graduate

Q.No: 3 An energy imbalance due to high light appears to be sensed through changes in the redox state of the PQ pool. Such an energy
2612951 jmpalance due to overexcitation of PSII is called

I USBTRI & BRI TP Sl SRGa PQ T P YSIay T & uad & Hiea J Aeqy fbar S Teba 81 PSII & HASTST & BRI 39 0RE &

STt g Bl HET S B
Excitation osmolarity
A
FASHT TRTERT
Photostasis
B
BRI
Excitation pressure
C
FeHT BT ga1d
Retrograde gene regulation
D

yfermet <= faffaw=
Correct Ans : C

Subject : BIOLOGY graduate

Q.No: 4  Which among the following is an example of multicellular archespore?
2612965

fufafed o § B I T TgHIRDT AHWR BT IR0 72

Brassica campestris

A
ST Fofw
Aloe vera
B
wal &
Cannabis sativa
C
Frfe s
D Abelia triflora
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T grEwiRT

Correct Ans : A

Subject : BIOLOGY graduate

Q.No: 5 In many syncarpous species there is an opening called at the base of the style that allows the pollen tubes to reach any
2612966 f the ovules in the ovary locules.

F3 AT yonfadl § A B SMYR W I U s T 8 Sff IR Afdiah & sierR & falt ot fivtis % ugem &) srufa Sar g1

Compitum

HiReH

Hilus

Raphe

T

Santalum

Fean
Correct Ans : A
Subject : BIOLOGY graduate

Q.No: 6 Which of the following is not a direct use value obtained from biodiversity?
2612989

frofafed & § oH-a1 99 fafydr 3 ura gy Suan 9w 6 82

Ecotourism

A
wafavor e
Food
B
RIS
Medicine
Cc
odar
Pollination
D
WA (NeAT)

Correct Ans : D

Subject : BIOLOGY graduate
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Q.No: 7 Which technique helps to overcome water problems faced during horticulture?
2612999

AT B SRA B aTel U B gHwne B ¥ B & Y B W ah-id Heg B 82

Drip irrigation

A
ge @ Rrg
Transplanting technology
B
TR T
Seed coating
C
i< o1 7y
Limiting plant growth
D

e &1 gfx & St s

Correct Ans : A

Subject : BIOLOGY graduate

Q.No: 8 A double-stranded RNA is produced by the transcription of an inverted repeated sequence of a gene. This transcript forms a hairpin-
2613014 loop structure that leads to the degradation of homologous mRNAs.

Identify the system.

ey @! ygaH |

o, T S & I GIERTT TN A & Uidaa gRT U S9a-Kas HRUAT &1 Il 351 ST 81 I8 Waad U 8TR1UH-qU TRe-T 41T § S
TS MRNAs & &RUT B 3R I &

RNA Interference (RNAi)

A
3RTAY(RNA) $E3H¥H (RNAI)
Mutation
B
A
DNA Proof reading
C
ST yw A
Variable number tandem repeats (VNTR)
D

ANTTe R W Wew (VNTR)
Correct Ans : A
Subject : BIOLOGY graduate

https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2Sg3feb2023grive_adminPanel/Final_Model_Answer.aspx 4/89



4/16/23, 10:48 PM https://mppeb.cbexams.com/MPPEB_Cand_Objections/Group2Sg3feb2023grive_adminPanel/Final_Model_Answer.aspx

Q.No: 9  Which plant genes protect them from foreign antigens?

2613030
I F Urey ST 3% STe gl § S §?
VIR genes
A
VIR 9
AVR genes
B
AVR WH
R genes
C
R A
S genes
D
S SiF

Correct Ans : C

Subject : BIOLOGY graduate

Q.No: 10 Which statement is untrue about liquid chromatography?
2613039

WA HIECIB! & IR H DI T HYT 30T 872

Chromatography takes place if the different analytes that are present in an extract or any other mixture have similar
partition behaviour between the mobile and the stationary phases.

A
PIHCRTE! a9 gl & o9 3 a1 fbedt oy firgror F My fAfia faxdwon & darge oiv fRR Wil & & gu™ faueH sragR giar 21
Analytes with high solubility in the eluent will wander fast through the column and will soon be eluted from its outlet.
B
TEUe ¥ 3= ga-i=iadr ard fasdvor sidad & 7y & dei § Yedil IR oo € 39P ASede A gR g A
Those analytes with high “adsorptivity” (in a broad sense) to the stationary phase will stay longer within the column
and will be eluted late.
C
RR WU F e 3= "I (s o #) ara faxauwr siaw F fiar @9 96y 9% [ SR R A gUTE 81 S|
As soon as the analyte molecules are in contact with both phases, they start partitioning according to their
physicochemical properties (dipole moment, possible charges at their surface, shape, size, etc.).
D

O € fa=dwor 8ryp ST TRUI & WUH # S §, F 3 Wife-
It it (Ryd &or, S99 Uag W GUIRT 31aw, 948, PR, ) F AR YT H=1 == 3% 3d 8

Correct Ans : A

Subject : BIOLOGY graduate

Q.No: 11 Which of the following treatment can be used for degassing?
2613049
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Fafifed 7 4 g SRR &1 Iuai MR & T far o1 o 82

Helium sparging

A
Siferam |
Aerosol washing
B
RIS iR
Steam
C
g
Freezing
D
WIS

Correct Ans : A

Subject : BIOLOGY graduate

Q.No: 12 In order for a name to be established under the PhyloCode, the name and other required information must be submitted to the
2613064 PhyloCode registration database. This is called as .

BIRAIPGIS & ded Uh A T H1 $ L, 7MW 3R 3 IS TR BIRabs Uiieul SeTad H S 31 o a1y
W_ FE Mg

Registration

A
EEICay|
Clade Names
B
s TH
Establishment
C
RITqT
Specifiers and Qualifying Clauses
D

TWRIPTAR 3R PG Tl
Correct Ans : A

Subject : BIOLOGY graduate

Q.No: 13 Which of the following is a viscose product?
2613079

=0 ¥ HH-1 e SamE 87

A Cellophane paper
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e TR
Hemicellulose
B
eftrges
Berkeley filter
C
THd fireex
Parchment paper
D

ride uR
Correct Ans : A

Subject : BIOLOGY graduate

Q.No: 14 Which channel proteins act both as receptors of extracellular signals and as ion channels?

2615911
B I A WIS F181 Toball & NI IR o 397 <l & &9 # $1f Hal g2
Ligand-gated channels
A
frfs-es Fa
Stretch-gated (tension-gated) channels
B
RI-Ies (T9-1¢S) a9
Phosphorylation-gated channels
C
BRBRIEATE-TeS 379
Voltage-gated channels
D

qreeel-es I
Correct Ans : A

Subject : BIOLOGY graduate

Q.No: 15 Neurons that are entirely within the CNS are called

2615920
IRA N g RE Y Hieew (CNS ) F fiREAE, T wgad gl
Terminal neurons

A
i =i
Interneurons

B
geRi
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Afferent neurons

VGBI R

Efferent neurons

FHIT PRI
Correct Ans : B

Subject : BIOLOGY graduate

Q.No: 16 Identify the type of imitation where animals may direct their activities towards a particular part of the environment as a result of
2615935 responses by others.

SARYE F IY UHR B UgaH B gl MR guRl BI ufafeharsii & uRumasy sio-t nfafafiat &) vafaro & te Oy R &t ok AR =
T B

Local enhancement

A
R Hag=
True imitation
B
=T SIHRUT
Social facilitation
C
IS glaem
False imitation
D

frear argaoT
Correct Ans : A

Subject : BIOLOGY graduate

Q.No: 17 Which among the following member is not included in protochordata?

2615951
fFrafafed # ¥ o o Yew weieree & i T8 82
Adelochordata
A
TSHPIser
Tunicata
B
fPTe
Acrania
Cc
Sfep1frar
D Craniata
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hfarer

Correct Ans : D

Subject : BIOLOGY graduate

Q.No: 18 Nerves capable of responding to these internal events are classified as

2615961
T 3R TeArel WP srA e M B % ©u § il fbar T g
Efferent nerve
A
3yarst dfeT
Interoceptive
B
FeRaiafdT
Vagus nerve
C
T et
Motor nerve
D

HreR dier
Correct Ans : B

Subject : BIOLOGY graduate

Q.No: 19 is the farming of aquatic organisms, including fish, mollusks, crustaceans and aquatic plants, and is a major means of
2615971 global meat production.

ST Siat @) Tt 8, o T, Aok, BRI SR Selid e i €, R a8 afye i SdTe B Ue U e 7l

Apiculture
A

Ty uTeT

Tissue culture
B

Fa® Had=

Horticulture
C

CIUGIE]

Aquaculture
D

H&A YTl
Correct Ans : D

Subject : BIOLOGY graduate
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Q.No: 20 The loops of Henle and their parallel arrangement provide the anatomical basis for the production of urine that is in
2615986 npature.

B0 F U 3R 30! GAMIR IR G F IAE F Y WRTHD MR YSH A g M upad_ Bl
Hyperosmotic urine
A
TRWIEIRE A
Hypoosmotic urine
B
TR
Isotonic urine
C
TS
Diluted urine
D

sTgeqfes T

Correct Ans : A

Subject : BIOLOGY graduate

Q.No: 21  Vitamin is the collective name for a group of closely related lipids called tocopherols.
2616001
ICHIEE] e T fafts & ue 9gg &1 9Mfes T 7 S Aathid $gl oI
A
A
B
gt
E
C
D
¥

Correct Ans : C

Subject : BIOLOGY graduate

Q.No: 22 The glycosidic bond between the first carbons of the two hexose sugars which form trehalose is abbreviated as
2616011

3l IR WIS & Ugd BIe- & 19 LD ISP de S Cgale a1l 8, Bl ¥ 0§ dféra faan o 31
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Glc(o1—4)Glc

A

Glc(a1—4)Glc

Gal(p1—4)Glc
B

Gal(p1—4)Gle

Gle(a1—10)Gle
C

Gle(a1—1a)Gle

Fru(2—1a)Glc
D

Fru(B2—1a)Glc

Correct Ans : A
Subject : BIOLOGY graduate

Q.No: 23 Aristotle’s lantern is used in
2616021

SREY & AT BT IUART

Locomotion

Jaa-

Respiration

494

Protactor

MeweR

Feeding

wIfET
Correct Ans : D

Subject : BIOLOGY graduate

Q.No: 24 The hind limbs are absent in

2616036

by the urchin.

# onfef gRT fasam ST g1

mammals.

qyug TTRET § U B 7

A Chiropterans
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R

Rodents

HUD

Marsupials

aRYfUad

Cetaceans

dRREE

Correct Ans : D

Subject : BIOLOGY graduate

Q.No: 25 When the two species interact with each other and both species are benefitted, it is called as

2616051
e &1 el T g A1 IRER o1 et § OfR G vonfof e el S, g Fel o o
Commensalism
A
R
Mutualism
B
MLELER)
Neutralism
C
qCRIAT
Parasitism
D
R

Correct Ans : B

Subject : BIOLOGY graduate

Q.No: 26 Which one of the following would be the total momentum of an isolated system?
2626179

fofafed & § S 91 T s Yumel &1 $a GaT g

Rational
A

Constant
B

Rr
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Positive
C

HPRTHAD

Negative
D

TORTHP

Correct Ans : B

Subject : PHYSICS graduate

Q.No: 27 Which one of the quantities is required to produce angular acceleration in a particle about an axis?
2626189

TH 3 &b TP HU H SV @R0T ITF B & O {59 B savasdr gt 82

Torque
A
eH
Force
B
9
Mass
C
KA
Momentum
D
afa

Correct Ans : A

Subject : PHYSICS graduate

2212(;22085 What is the breaking strength of steel wire of diameter 8mm if a similar steel wire of
diameter 4 mm has a breaking strength of 4 X 10°N?
BT e arel T8 & aR 1 g o Fan ¢ afe oo 4 @ & e 6
TR T JTehaT T 4 x 10°N B2
1X10°N
A
1 X 10°N
4% 10°N
B
4% 10°N
c 16 x 105N
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16 X 10°N

8x 10°N

8x 10°N

Correct Ans : C
Subject : PHYSICS graduate

Q.No: 29 Represent the Young’s Module of elasticity.

2626206

TR 1 A {1 e GRT UaRid a1 o Fbell &

Tensile stress/ Tensile strain
A

TS R / W KA

Shear stress/ Shear strain
B

R ®w / Rrr w1

Tensile stress/ Shear strain
C

e wH / RR wgA

Shear stress/ Tensile strain
D

R W3 / e '

Correct Ans : A

Subject : PHYSICS graduate

Q.No: 30 The area of each Fresnel’s half period zone is same and equal to which factor?
2626219

UAS Tdt & 31 sad & FT S [ 0w & THH 3R SRR il 872

2/
A
2/
1/2
B
1/2
24
C
24
D A
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A

Correct Ans : D

Subject : PHYSICS graduate

Q.No: 31 Name the dielectric breakdown that occurs due to the presence of gas bubbles in the solid medium forming ions resulting in current.

2626254

BN AT S a1d ST § 1 & goagd Bt SURUY F HRUI §H a1d Gidhdl goN SHeIeH &I A1 FaTd forges o WY $ies qud gidl g

Intrinsic breakdown

A
g<R® awseT
Discharge breakdown
B
st swsTea
Electrochemical breakdown
C
gade! PP JbhsST
Defect breakdown
D

fehae swse

Correct Ans : B
Subject : PHYSICS graduate

Q.No: 32 The ability of a capacitor to store charge does not depend on

2626266
FURTER P T ©R FA B & W R 78 oA 81
Area of plate
A
e BT &
Applied voltage
B
T@SS diees
Thickness of dielectric
C
ST geifae® P Al
Relative permittivity of a dielectric
D

TS SAfGed B Tier TR

Correct Ans : B

Subject : PHYSICS graduate
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Q.No: 33 What does the fifth band in the resistor colour code system represents?
2626267

iRl 11 HIe yuel § Uigal S ST gidr 87

Neutral
A

qc

Decimal multiplier
B

ST IS

Tolerance
C

efey

Significant digits
D

Ugayul 3w
Correct Ans : C

Subject : PHYSICS graduate

Q.No: 34 Which one of the following is an example of a periodic motion which is not oscillatory?
2626279

fafafea 7 § o5 1 U 3mafiie Tfa &1 IR0 § S iR T8 82

Simple pendulum

A
WA vgad
Compound pendulum
B
fuf¥a dgem
Acoustic harmonic oscillator
C
e gl sikfider
Motion of the earth around the sun
D

T F IRY 3R gedt
Correct Ans : D

Subject : PHYSICS graduate

Q.No: 35 Young’s double slit experiment is an example of which division of interference?
2626294

T T Soa &I TANT 5T UBHR & Bl BT Teb I3 o

A Division of Amplitude
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3TATH &1 fayTS=

Division of Wavelength

B
T 3 a1 v
Division of Wave front
C
99 e 3T faureH
Division of Frequency
D

Mgy &1 e

Correct Ans : C

Subject : PHYSICS graduate

Q.No: 36 Which one of the following serves as the heart of the CRO?
2626330

S Profifed § 4 te Femel & Ra & wu d o1 axar g

Cathode-ray tube

A
FUs-Yege
Vertical amplifier
B
Ifra TeeTaR
Sweep generator
C
iy FeR
Trigger circuit
D

o wf$e
Correct Ans : A

Subject : PHYSICS graduate

Q.No: 37 Match the following.

2626331
Column A Column B

[. Deflectmg plates A) To produce a well-defmed beam of
electrons.

2. Focusmgmede E) Glows visibly when struck by an
electron beam

3. Electron mm C) To contrel the path of the electron beam

4. Glass envelope D) To provide a stream of electrons.

fFrafafed ot fiem
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HledT A Fied B
I. Deflecting plates ATo produces a well-defmed beam of
electrons.
3. Focusmg mods 1. Glows visibly when struck by an elzctron
beam
Electren gun C. To control the path of the electron beam
4. Glass envelope D. To provide a stream of electrons.

1-C, 2-A, 3-D, 4-B

A
1-C, 2-A, 3-D, 4-B
1-B, 2-A, 3-D, 4-C
B
1-B, 2-A, 3-D, 4-C
1-A, 2-C, 3-D, 4-B
C
1-A, 2-C, 3-D, 4-B
1-C, 2-D, 3-A, 4-B
D

1-C, 2-D, 3-A, 4-B
Correct Ans : A

Subject : PHYSICS graduate

Q.No: 38 Which of the following is incorrect with respect to integrated circuits?
2626339

THIpd TR & Gy § Ffiad § § S 91 Ted 82

Low power consumption

A
FH foorelt 1 @ua
Increase response time and speed
B
ufafsrar awa iR nfa Feme
Extremely low reliability
C
g HH faywiaar
Extremely small physical size
D

¥gd oier Wifd® mer

Correct Ans : C

Subject : PHYSICS graduate

Q.No: 39 How many numbers of circuit package can be found in MSI?
2626340
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TUGSE ¥ S Ffthe Yae UIe o ahd 32

Less than 12

A
12959
Between 13 and 99
B
13 3R 99 ¥ g
Between 100 and 1000
C
100 ¥ 1000 & di9
More than 1000
D

1000 9 3%

Correct Ans : B

Subject : PHYSICS graduate

Q.No: 40 Read the following statement and choose the correct option.
2626355

Statement A: A clock is a circuit that emits a series of pulses with a precise pulse width and a precise interval between consecutive

pulses.

Statement B: A clock is used by a sequential circuit to decide when to update the state of the circuit

fafafad sy @1 ufen 3k Tt fawed o1 T i

PHYT A: U US! TH Fiehe 3 Ol Wl @1 TP 4N B Th D U 1818 3R TAR U F 819 U Tl 3R &b A1y Ioqford ol 3
PYT B: U 3IhiHeh Jiche gRI U TS BT SUUNT T8 a9 - & fo e S & & Tfbe &) fRufy &) we s fvar smo

Statement A is correct and B is incorrect

A

HYT A FE1 8 3R B T 3

Statement B is correct and A is incorrect
B

FUT B WEl 3 R A Ted B

Both the statement A and B are correct
C

A 3R B 3 Tu= Uet §

Both the statement A and B are incorrect
D

A 3R B 3 HYT Ted §
Correct Ans : C

Subject : PHYSICS graduate
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Q.No: 41  When both the inputs S and R are considered as 1, What is the status of SR flipflop ?
2626356

9 §Ye S 3R R SHT &1 1 AT ST ], o SR vy ot Rufa @ gt 82

One
A
TH
Stable
B
R
Unstable
C
SRR
Zero
D
T

Correct Ans : C

Subject : PHYSICS graduate

Q.No: 42 Calculate the critical current for a wire of lead having a diameter of lmm at 3.2K._ The critical
2626369 temperature forleadis 7.18K and H. (0} = 6.4 X 10*A/m

3.2 K W 1mm o ST dTel §1 & dR & [ofv Tehfeerer aRT &l a0rar &Y o5 & felv Ageaqer
TgHA 718K AR H.(0)=6.4X 10°A/m &

301 %104 Am
A

301 %104 Am

401 10* Am
B

401=10*Am

2088 x 10% A/m
C

2088 x 10% A/m

5.01x10% A'm
D

5.01x10% A'm

Correct Ans : C

Subject : PHYSICS graduate
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Q.No: 43 Fermi-Dirac (F-D) statistics applied to which type of particle in a system with thermal equilibrium?
2626404

- (Th-3h) Siws yHd Tgad ard TuTel H {5y TeR & S0 W AN B B

Identical particle of any spin

A
et oft = 1 W= B
Identical particle of zero or integral spin
B
=1 a7 AU R &1 JHE BT
Identical but distinguishable particle of zero spin
C
T R & A B 3ewT- 3T Hr
Identical particle of spin 1/2
D

R 1/2 F gaA 30
Correct Ans : D

Subject : PHYSICS graduate

Q.No: 44 Read the following and chose the incorrect option regarding positive crystals.
2626414

fafafaa @1 ufeu iR ¥ fhea & Tay # Tod fawed &1 997 S|

The refractive for O-Ray is less than that for E-Ray

A
3N-freor & forg suade §-fror & g swd w9 @
The velocity of O-Ray is greater than or equal to the velocity of E-Ray
B
3it-faor 1 I $-fvur F AT A 3iftrw 1 ITF WIER 7
The E-Ray travels faster than O-Ray except along the Optic axis.
(o
AT arer & aremar $-fpvor of-fpvor & Asht ¥ e Har 21
The ellipsoidal E-wavefront is entirely within the spherical O-wavefront
D

Srdgw §-aathe gt e A MareR 3i-dathe & R &
Correct Ans : C

Subject : PHYSICS graduate

Q.No: 45 Name the diode that operates under reverse bias in the breakdown region.
2626429

SHers &7 ¥ R a9 & dgd B S a1 SIS &1 A1 Jarsy|

A Laser diode
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AR SIS
LED

TSI (LED)

Zener diode

SR SHS

Photodiode

LaSICIC]

Correct Ans : C

Subject : PHYSICS graduate

Q.No: 46  On which condition, transistor will work in saturation region?

2626444

ey 8 A eifres g R & o1t w3 2

Both the base-emitter and collector-base junctions are reverse-biased.
A

I-TER SR FATR-a9 WaRH ! Rad-ares ¥

Both the base-emitter and collector-base junctions are forward-biased.
B

I-THER R FATER-IH SR Gl BRIS-ITIRS &1

Base-emitter is reverse-biased and collector-base junctions are forward-biased.
C

I9-TfHeR Rad-a1a%s 7 3R Fadee-a9 o= BRIS-TS ¢

Base-emitter is Forward-biased and collector-base junctions are reverse-biased
D

Correct Ans : B

Subject : PHYSICS graduate

Q.No: 47 Assertion (A): The neutron-proton ratio for heavier nuclei generally increases as the atomic number increases
2626479

Reason (R): Electrical repulsive forces between protons scale with distance differently than strong nuclear force attractions

BT (A): TR TSHAT Fg TR URY AHS F AU FlF-MeH U aR TR §¢ oIl §
HROT (R): Holgd RATY & ATHYU F 3T g8 F 1Y Wl 99 & o9 figygd ufdsRe aa

A and R are true and R is the correct explanation of A

A 3R R 9@ ¥ 3R R, A &7 U€! Witewur &

B A and R are true and R is the correct explanation of A
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A 3R R 9@ ¥ 3R R. A &7 98 Whewu 2

A is true and R is false

ATIE R RIMA T

A is false but R is true

AR AfPT R T ®

Correct Ans : A

Subject : PHYSICS graduate

Q.No: 48 Read the following statements based on Betatron y and choose the correct option.
2626488
Statement A: Betatron is an accelerator for accelerating electrons or beta particles

Statement B: Betatron uses the concept of electromagnetic induction as the accelerating force.

dleret W smuia Fafafad syt 1 ug 3R T8l fAded &1 797 |
HY A: dieTe gager! a1 diel Sl Bl T 3 P AT T @R g
HYF B: SleTeH @RP g0 $ TU B fagqd TadId IR0 3T 3[@YRT BT SUANT HT |

A is correct and B is incorrect

A
A TE % 3R B Tad §
B is correct and A is incorrect
B
B Tl 3 3R A T B
Both A and B is correct
C
AR B U
Both A and B are Incorrect
D

A 3R B S TTed §
Correct Ans : C

Subject : PHYSICS graduate

Q.No: 49 Simple cube has how many corner atoms?

2626504
WA g § fba B S WA 8 82
16

A
16

B a
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4
8
C
8
12
D
12

Correct Ans : C

Subject : PHYSICS graduate

Q.No: 50 Match the following
2626519

Column A

Column B

1 Single -mode fibre

A Refractive index of the core is constant

2. Multi-mode fibre

2. Non-uniform refractive index

3. Step-index fibre

3. No signal dispersion

4. Graded index fibre

4. Signal degradation is present

[EEINICREARERIE

Column A

Column B

1. 1.8ingle -mode fibre

A. No signal dispersion

2. Multi-mode fibre

B. Signal degradationis present

. Step-index fibre

C. Refractiveindex ofthe coreis constant

3
4. Gradedindex fibre

D. Non-uniformrefractive index

1-C, 2-A, 3-D, 4-B

A
1-C, 2-A, 3-D, 4-B
1-B, 2-A, 3-D, 4-C
B
1-B, 2-A, 3-D, 4-C
1-A, 2-C, 3-D, 4-B
o
1-A, 2-C, 3-D, 4-B
1-C, 2-D, 3-A, 4-B
D

1-C, 2-D, 3-A, 4-B
Correct Ans : D
Subject : PHYSICS graduate

Q.No: 51 What is the relationship between the wavelength and frequency of light?

2622770
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YT &1 T ¢ SR Mgy & offg aam Tay g2

A
c=-
u
A
A
c=-
u
C
A=-
k]
B
C
A==
u
C_'LJ
A
C
C_'LJ
A
A
v=-
C
D
A
V==

Correct Ans : B

Subject : CHEMISTRY graduate

Q.No: 52 Why is the melting point of Nal lower than NaF?
2622780

Nal T e NaF & ®H &} gl 872

The ionic size is directly proportional to the attractive force.

A
AP PR ATHYD aa1 P WY TFuTfaD gar 2l
The ionic size is inversely proportional to the attractive force.
B
AP PR THYD Ia1 $ HaPATIUTI! gral g
The attractive force is inversely proportional to the melting point.
C
STHYUT T AP P HSPATIUTI! gral gl
The ionic size is directly proportional to the melting point.
D

TafTP PR WY Taie S TATIUE gt 21

Correct Ans : B

Subject : CHEMISTRY graduate
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Q.No: 53 The lattice energv of sodium chloride is -774 kI mol-l. What does the *-” sign indicate?

2622781
WETH FelNSs Y ATl FaT -774 kImol. &) - FIEs &= gafar &2
An increase in the energy of the system
A
o @ St F 9f
An endothermic process
B
TP Cerufie ithar
An exothermic process
C
TP Tasitufiie ufsar
The deformation of a solid
D

o 31 3t fapfa

Correct Ans : C

Subject : CHEMISTRY graduate

Q.No: 54 Which two scientists, among the following have proposed the Molecular Orbital Theory?
2622796

Frafefea # & e @1 ame! 3 snftae waita R wfad far g2

Sidgwick and Powell

A
frsnfds sk uiaw
Gillespie and Nyholm
B
freredt ok =gt
Born and Pauling
Cc
I 3R iferT
Hund and Mulliken
D

§US SR gicwa

Correct Ans : D

Subject : CHEMISTRY graduate

Q.No: 55 Which option carries one of the conditions for atomic orbitals to give rise to a stable molecular orbital?
2622797

D 1 e Uo RR 0w Hefig 31 o1 37 & e wang wenstt & e waf § § ue &) 987 Fear 32

A Relative energies of atomic orbitals must be close to each other.
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URHTY] HETS Pt AU Sol T gk & Hd gt gyl

The charge clouds of atomic orbitals should not have a large extent of overlap.

TRATY Sfifdee & I Faeed # SfavAy Pt TP T 1 FAT 6 g AR

Atomic orbitals of different signs should overlap.

fafir forgl & Wy siffdec eifaray 81 =fRw)

The symmetry of atomic orbitals need not be close to each other.

YRHTY] FHETS FT THETAT B TP g F BT giF Pt Aa=aHdl et 2

Correct Ans : A

Subject : CHEMISTRY graduate

Q.No: 56 Which of the following gives correct information about the staggered conformation of ethane or any alkane?

2622810

fFRafifed 7 @ 39 71 bt 3 & Hfig T=uu & IR § TEl SHBRY T 82

All the C-H bonds are as far away from each other as possible.

Tt C-H 975 TP g A JURIHT g 814 71

All the C-H bonds are as close to each other as possible.

Tt C-H 3 TF g & e Hya gt a1 w9 g g1

It is lower in energy.

g Holl § HH 8 8l

About 1% of the molecules are close to this conformation.

T 1% Y] 59 7T & H9 g 81

Correct Ans : A

Subject : CHEMISTRY graduate

Q.No: 57
2622853
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What is the correct order of reactivity of alcohols?

3 Igd B! Ufafsham=iiaar &7 9€l HH F1 8?2

Tertiary < Secondary < Primary < Methyl

Fdae <urafie <uufie <y

Primary < Tertiary < Secondary < Methyl

R <Tdae <arwafte <fursa
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Tertiary > Secondary > Primary > Methyl

Jdlas > Arafies> wAfies> furga

Tertiary < Methyl < Primary < Secondary

Jdras <fursa <wufis <arafies

Correct Ans : C

Subject : CHEMISTRY graduate

Q.No: 58 Which of the following takes place during a nucleophilic substitution reaction?
2622854

frafthfee ufaRiee uiafsar & SRE Fafifed # & oF w1 8 82

The product is positively charged for a neutral nucleophile.

A
IdTE B! de YfFaapEda & RIT GPRIHAS &9 916 fHar Srar 21
The product is negatively charged for a positive nucleophile.

B
TPRIAP YfRTaIPIEd P 7T IS B! THRIAD & J °Tei 15T o1 8
The product is neutral for a neutral nucleophile.

C
IAG deR YfFaaIprsd & e e g1
The product is negatively charged for a neutral nucleophile.

D

TR YfFRTANGIEA P T IUTE B THRIAS ©U F I16 %71 o1l 2

Correct Ans : A

Subject : CHEMISTRY graduate

Q.No: 59 The Williamson ether synthesis is which type of reaction?
2622862

faferam $uX Sxaw fbd TR @t ufafpar &2

Skl
A
Sil
Sp2
B
Sp2
E1
C
E1
D ElcB
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ElcB

Correct Ans : B

Subject : CHEMISTRY graduate

Q.No: 60 With which of the following, benzaldehyde reacts and undergoes the Cannizzaro reaction due to the absence of an alpha-hydrogen
2622877 atom?

ST -GISSIoH TRHANY B U & BRu, Fufeiad & ¥ frad wy Sufcsgrss ufafdar wrar § 3R HHeR! ufafsar & ordr g2
Sodium hydroxide

A
WETw grggioarss
Sodium oxide
B
wifeaw sifqargs
Sodium peroxide
C
Hifsaw WRisss
Sodium chloride
D

qfsan FaRgS

Correct Ans : A
Subject : CHEMISTRY graduate

Q.No: 61 Which of the following is a valid condition to conduct the steam distillation of liquids?
2622892

T TSIl S YUY 3{TFa & Tarer & forg FHufafad § @ o9 It 9y fRufa 82

The immiscible liquids should have volatility near 100°C.

A
HE=TT T 9eret 7 100 °C & I8 3TEar gY i &
The immiscible liquids become solids if distilled ordinarily.
B
HIYRY &Y & AT F3 W HHyoia 5q 319 g o1t &
The vapour pressure is less than the vapour pressure of either of the liquids.
C
arey gre faft ot 59 F arer g | F F) 9w §
The boiling point is above the boiling points of the immiscible liquids.
D

FYATP Afryoiig ave ugif & HUTIE | HUR BT Bl
Correct Ans : A
Subject : CHEMISTRY graduate
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Q.No: 62 Digesting wood in a solution of sodium sulphide, sulphur and X is the sulphate process of preparing cellulose. Which is represented
2622934 by “X"?

e JhIES, Tehr R X F 9 & ahel Bl o Yogars] daR HRA Bt Fetbe Ui g1 “X” gR1 foraeT ufaffi far Srar g2
Sodium hydroxide

A
WETy grggiaarss
Sodium oxide
B
wHifsaw siferss
Sodium sulphate
C
|fsTH webe
Sodium acetate
D

iforan

Correct Ans : A

Subject : CHEMISTRY graduate

Q.No: 63 What is the contribution of face atoms to the total number of atoms in a unit cell of a face-centred cubic structure?
2622945

TH BAD PHisd T U1 B U IHTS I B ST WAISH B T | Bads RATv &7 31 de 82

1
A

1

2
B

2

3
C

3

4
D

4

Correct Ans : C

Subject : CHEMISTRY graduate

Q.No: 64 According to the law of constancy of interfacial angles, which option is true?
2622946

SRTBTADH T HIT B FRRAT F 00 & 3¥R, S 1 [dhed 94 72
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The angles between adjacent faces vary according to the sizes of the crystal of the same substance.

A
T A< & §19 & B0 TP & verd F fhed & PR F AR i g §1
The angles between adjacent faces vary according to the shapes of the crystal of the same substance.
B
T A & I F D01 0P @ vard S e F R F gaR e B §
The angles between adjacent faces remain the same despite the sizes and shapes of the crystal of the same substance.
C
TF € uerd F fhed & STPR IR PR & Iaug A BaAD! & S F B0 JUH 84 81
The shape of a crystal varies according to its interfacial angles.
D

T fored &7 PR STP FeIBRAd BV & AR FaadT Tedl 8l

Correct Ans : C

Subject : CHEMISTRY graduate

Q.No: 65 What is the effect of a catalyst on a reaction?

2622959

foeht aififoran WR IERS &1 T GUTG BT B2

Activation energy is lowered
A

|fpau St w1 g ot 31

Activation energy is increased
B

Ifpgur Feif 9 &t 21

The rate of reaction is lowered
C

wfafirar 9t @@ 9 8 Tt 71

The energy barrier is increased
D

Sl Y T 2l

Correct Ans : A

Subject : CHEMISTRY graduate

Q.No: 66 Which of the following lanthanoid ion does not contain unpaired electrons in the 4f orbital?
2622974

frafeia & @ fba AdTss oma & 4f wefia § sgfyd gaae 8l 81 82

La®*
A

La*t
B Smt
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Sm**

Pt
Cc

Pt

Nd**
D

Nd**

Correct Ans : A

Subject : CHEMISTRY graduate

Q.No: 67 Which of the following is made of silicon and gallium?
2623016

frafofed & & o1 @ R ok Afeem 3 71 &2

Fuel cells
A
Y A9
Battery cells
B
& v
Solar cells
C
R 99
Vacuum tubes
D

JogH ogm

Correct Ans : C

Subject : CHEMISTRY graduate

Q.No: 68 What is the emission of light in chemical reaction at ordinary temperatures known as?
2623026

JIYRU A9 W IS AfHa H U= & ITo oI FT B8 § ?

Luminescence

A

Chemiluminescence
B

e St
C Fluorescence
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wfadifer

Phosphorescence

Tpedifa

Correct Ans : B

Subject : CHEMISTRY graduate

Q.No: 69 Which of the following refers to fiber-reinforced engineering structural materials wherein the fibres are continuous or long enough so
2623042 tht they can be oriented to produce enhanced strength properties in one direction?

fRafafed 7 § P9 9 PrRSR-Usd SSN-aRT SReHe I & Jaiia H3ar & Ded B ARG a1 < 999 9% v g1 § aife d Ue fomn #
¢ g3 Qo 01 BT IAG B & T IHE & Gh?

Polymer blends

A
uifersR firsor
Monomer
B
AR
Composites
C
ity
PVC
D
LiCit|

Correct Ans : C

Subject : CHEMISTRY graduate

Q.No: 70 Which is a type of starch found in plants consisting of a linear combination of several thousand glucose units?
2623043

e & UraT ST aTel U UBR BT T B 91 § R 33 §9R TS 3913l BT U IS T gidl 8?2

Fructose
A

Sucrose
B

Cellulose
C
D Amylose
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THTgE

Correct Ans : D

Subject : CHEMISTRY graduate

Q.No: 71 It finds limited applications in adhesives and may be polymerised by free-radical emulsion or suspension polymerization. What is it?
2623056

I8 fouea o HfT Syt urdl § SR WI-XEeHd SHeRM a1 TWiRE NamRSwRH gRT GRS fBar o 9abdl ¢ a8 31 82

Poly vinyl chloride

A
Ut I s FaRIsS
Poly (vinyl acetate)
B
el (e geiiee)
Polyamides
C
uiferarTEEH
Acrylic polymers
D

ufpfore uifermR

Correct Ans : B
Subject : CHEMISTRY graduate

Q.No: 72 Which of the following can be concluded for the mean free path of a gas molecule at 1
2623098 yyospheric pressure and 25°C7?

AHEE gaTa AT 25 °C W 7 30T & 3O & ST Rraatad # 8 ot @ ey
[GEICICIR:C T

It is large compared to macroscopic dimensions.

A
g AU ST BT ga-1 d 98T 8
It is large compared to molecular dimensions.
B
Tg TS ATl Y g & g1 &
It is small compared to the average distance between molecules.
C
g et & dta A ot gt A g d Bl @
It is small compared to molecular dimensions.
D

g AMUIfAP TATH B ga & BleT &
Correct Ans : B

Subject : CHEMISTRY graduate
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Q.No: 73 Which of the following situations occur under high pressure or low temperature that indicate the deviation of real gases from ideal
2623108 pehaviour?

g A @ o O RN 3= <a19 a1 7 duHHE $ ded gidl § S el SaeR Q aRdfde T4 & e o gufd 872

The intermolecular force of attraction or repulsion is negligible.

A
THYUT IT YfAH YT BT SfaR1as o TG gl 7
The volume occupied by gas molecules is negligible.
B
I & 3l GRT R T AT TG g
The intermolecular force of attraction or repulsion is not negligible.
C
Tedor a1 Uiy ST RIS g 0T T8 gar 81
The volume occupied by gas molecules is equal to the total volume of the gas.
D

T & M3 GRT BT TT A T & $ 3Mgad & aRIaR giaT ¢l
Correct Ans : C

Subject : CHEMISTRY graduate

Q.No: 74 Nickel tetra carbonyl on treatment with Sulphuric acid undergoes which of the following reactions, to form Nickel Sulphate?
2623123

TJERRE TRIS & Y STER W Fdpd a1 Fraia, Febd Gebe a9M & e Fofafea & 3 few ufafea § Torar 872

Substitution

A
uforeuTaT
Reduction
B
[REERIE]
Oxidation
C
Siqeftemo
Decomposition
D

3qgcH

Correct Ans : C

Subject : CHEMISTRY graduate

Q.No: 75 Which type of reactions involve loss of two substituents from adjacent atoms, as a result of which, unsaturation is introduced?
2623138

e yeR @1 iftifhare § argw wATyeT F &) uferuial @t g1 St 8, o uRumTaRET SRiqi S gt 82
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Elimination

A
[YIEERE]
Addition
B
SR
Substitution
C
PIGEIILE
Electrophilic
D
gaagIp S

Correct Ans : A

Subject : CHEMISTRY graduate

Q.No: 76 The characteristic roots of skew Hermitian matrix are either;
2625466

oo geifdia smoge ¥ sftede @ &, arar_

Real or zero

A
qRafd® a1 T
Real or non-zero
B
qRaAfd® T AR
Pure imaginary or zero
C
S PIed-b a1
Pure imaginary or Non-zero
D

T[S PIAD AT AT
Correct Ans : C

Subject : MATHS graduate

Q.No: 77 Which of the following pairs of matrices has the same Eigen values?
2625467

frafafed & ¥ fow gm &1 S 719 99 §im 82

A and A’
A

A st
B A and A
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A ¥R A

A and A*
C

A 3T Ax

A" and A*
D

A" T Ax

Correct Ans : A

Subject : MATHS graduate

26'\‘2(; 47782 The equation whose roots are negative of the roots of the equation
X +3x7+x*-x2 + Tx+2=0 is
FHRIT x7+ 3 +x3 - x? + Tx+2=0 & Hell & HOMcHS ol T
arelr FHEOT &
X' +3x+x'+5=0
A
X' +3x+x'+5=0
X'+ 4+ Tx—-2=0
B
X+ +x4+x2+T7x—-2=0
X' +2x*+5=0
C
X' +2x*+5=0
X =3 +x1-2=0
D

X =3 +x1-2=0

Correct Ans : B

Subject : MATHS graduate

.No: 79 .
2625485 D" sin (5 - 3x)=

D" sin(5-3x)=
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5% sin (5 —3x+ ?)

A
5% sin (5 — 3x+ )
3% sin (5 3x+77)
B
3% sin (5 3x+ )
(=3)7sin (5 —3x+ )
c
(=3)" sin (5 —3x+ —“)
(=5)" sin (5 —3x+ —“)
D

{—5)" sin (5 —3x+ ?)

Correct Ans : C

Subject : MATHS graduate

Q.No: 80 . x2 3"3 )
2625497 The area of ellipse < + gz = Lis
a

2 2
GTEiged 5+ 5= 1 & &9 ¢

L W
ab
A
ab
i1y
—ab
4
B
iy
—ab
4
m
—-ab
2
c
T
Eab
D wrab
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mab

Correct Ans : D

Subject : MATHS graduate

25'1‘25%15 Iff = (x+ 2y +az)i+ (bx — 3y —z)j + (4x + ¢y + 22)k is Irrotational then value

of a. b. ¢ are:

afe F = (x+ 2y +az)i+ (bx — 3y — 2)] + (4x + cy + 22)k sreoff &, @@ a. b, ¢ & 7
¥

A
a=2,b=3,c=3
a=4,b=2c=-1
B
a=4b=2,c=-1
a=0b=1,c=3
C
a=0b=1,c=3
a=-1,b=4,c=2
D

I
N

a=-1,b=4,c

Correct Ans : B

Subject : MATHS graduate

Q.No: 82 . e T .
2625514 LEquation of tangent at point ‘o’ of conic —= 1 +e cosBis:
r

an’arcrg =1 +ecosB & fdg o« T T W@ HT FHHIT &:

£ ]

r—ecos{ o)
A

£ ]

r—ecos{ o)

£

o= ecos(B —a) + cos B
B

£

= ecos(B —a) +cos B
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